Year 10 Knowledge Organiser
Term 1

This booklet contains some of the key content we want the students to learn this term.
Knowledge Organisers are placed in the relevant Google Classroom.

How students and parents can use a Knowledge Organiser to maximise learning:

¢ Pick a subject to recall and memorise
e Look at the pages for that subject

| Read the page information for that subject

Cover the page of information

Write the information for that subject from memory

Check what you have written. Correct mistakes and add anything you have missed

Your teacher will quiz you in class to see what you can recall

Repeat the process over time and focus on the information you keep missing or make mistakes on
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Art

Year 10 — Movement

Project

Assessment Objectives:
AO1 — Developing ideas through research

AOQ2 — Using resources, experimenting with different media and ideas

AO3 — Recording ideas (photos & drawings)
AQ4 — Personal response

Overview of Topic
In this project you will investigate the theme of Movement through
different media’s such as photography, creating a 3D wire
sculpture and producing a ceramics final piece. All students will
work on Black boards throughout this project developing your
presentation skills, written analysis and art work. We will
explore a range of movement throughout this project beginning with
drawing to music.

-
21 =
we will listen to a variety cf songs and draw what we
feel the music¢ would like in 3 drawing.
gt
S+

You will then work back over your lines giving it
more detail whilst listening back through the songs.

After this you will use the rescurces available to
you to znaslyse the work that you have produced.
gl

Orawing to Music’ in large, using a stencil. Stick
down your 4 pieces of art ensuring they have a clear
and equal border. Using a pencil draw writing lines
to then copy yvour analysis ontc yecur beard. Use a
white pen to write yocur analysis.

—

All tonal shades from dark
to light should be present
in your drawing.

Step 1:
we will look at Michael Besanke’s artweork. You will select 5-8 high quality
images - ¥No blurry photos.

Step 2:

You will then use the resources available toc vou to analyse his werk as well
as find out some background information on him.

Step 3:
7o present your work on vour black board. Title ‘Michael Bosanke’? in large,
using a3 stencil. sStick down the artists work ensuring they have a clear and
equal border. Using a pencil draw writing lines to then copy vour analysis

onto your board. Use 3 white pen tc write your analysis.

rotatrimmer.

Title ‘Drawi

Set a camera up to the correct settings,
place it onto a triped and enter a dark
rocm. Experiment with different lights,
swirls and representations of movement.

Choose yeour faveurite 7-19 images. Print a
varisty of sizes off. Trim using the

To present your werk on your black board.
ng with Light’ in large, using
a stencil. Stick down vour photographs
ensuring they have & clear and equal
border. Using 3 pencil draw writing lines
to then copy your analysis onto your board.
Use a white pen to write your analysis.

To create an A4
recreation of his work
experimenting with
different materials.

Camera = Manual
Lens = Manual

IS0 = 100

F-Stop = F16-F22
Shutter Speed = 8”-30”




Art

Year 10 — Movement Project

) : £ Topi

In this project you will investigate the theme of Movement through

Assessment Objectives:
AO1 — Developing ideas through research

AO3 — Recording ideas (photos & drawings)
AQ4 — Personal response

A02 — Using resources, experimenting with different media and ideas

different media’s such as photography, creating & 3D wire
sculpture and producing a ceramics final piece. All students will
work on Black boards throughout this project developing your
presentation skills, written analysis and art work. We will
explore a range of movement throughout this project beginning with
drawing to music.

We will lock at Michael Bosanko’s artwork.

will select 5-8 high quality images
- Ne¢ blurr

hgtos.

You will then use the resources available to you to analyse his work as well as
find out some backgrcund information on him.

To present your work on your black beard. Title ‘Michael Bosanko’ in large, using a
stencil. Stick down the artists work ensuring they have a clear and equal bcrder.
Using a pencil draw writing lines to then copy your analysis onto your bcard. Use a
white pen tc write your analysis.

We will create a wire sculpture using a block of wood, wire, tights and paints.

You will then coat your sculpture with white paint as a base coat then design your
piece in the style of your chosen artist. Tip - write down the process briefly so
that you can add it to your board.

To present your work on your black board. Title ‘3D Wire Sculpture’ in large, using

3 stencil. stick down images of the preocess ensuring they have a clear and equal
border. Using a pencil draw writing lines to then copy your analysis contc your
board. Use a white pen to write your anzlysis.

Take primary images showing movement. Relate to something that

you can potentially create using clay. Find seccndary images of
the same subject. Print off the images.

Te present your work on your black beard. Title ‘mood Board’ in
large, using a stencil. Stick down your photegraphs ensuring
they have a3 clear and equal border. No analysis needed - only

label your primary and seccondary images.




Art

Year 10 — Movement Project Overview of Topic

In this project you will investigate the theme of Movement through
different media such as photography, creating a 3D wire sculpture

Assessment Objectives: and producing s ceramics final piece. All students will work on
AO1 — Developing ideas through research Black boards throughout this project developing your presentation

AO2 Usi = % ith diff di d id skills, written analysis and art work. We will explore & range of
L2 BE resogrces, experlmentlng.wlt irterent media and ideas movement throughout this project beginning with drawing to music.
AO3 — Recording ideas (photos & drawings)

AQ4 — Personal response

B T CORE it ||3eesine—

vou will create 3 different ceramics ideas that show Create your ceramics final piece. Take SLIP it
movement. All 3 ideas must have different angles drawn photographs thrcoughout the process. 5
2 Step 2: e s
St:ep ayes Print out images taken of the process. SMOOTH it
: N
You will further develop vour most successful —
explaining why it is the most successful piece and how

To present your work on your black board. Title

y n r it. % = 2 3
YO pEG Saccreale I ‘3D wire Sculpture? in large, using a stencil.

Step 3; stick down images cf the process ensuring they -
To present ycur work on your white board. Title have a clear and equal border. Using a pencil
‘Development for my ceramics piece’ in large, using a draw writing lines to then cepy your analysis o o]
stencil. Using a pencil draw writing lines to then onto your board. Use 3 white pen to write your UL ;ﬂ H
write ocut your analysis onto your board. analysis. dLialU

W H \_\,V
R TrAY

Scoring and slipping:

To join together two pieces of clay
they must be scored and slipped.
Scoring is done by scratching texture
(similar to hashtags: #) into the
surfaces that you wish to join. Slip
is a liquid mixture of clay and water
that is used to help weld the pieces
together. Without the slip the clay
will not stick.

To write an A2 page evaluation of your movement

project - using the resources to support vou.




Business Studies

GCSE BUSINESS

Topic 1.3.1 Business Aims & Objectives

Key Vocabulary

Aims — a long term goal a business
wants to achieve

Objectives — more specific
measurable steps (SMART)

Financial aims — goals related to
money, e.g. survival, profit levels

Non-financial aims — goals related
to non-monetary aspects, e.g. ethical
or environmental issues

Core Knowledge

SMART - Specific, Measurable, Achievable, Realistic, Time-framed

Examples of Aims:

« Financial aims:

o

o
o
o

Survival

Maximise or increase sales and/or profit

Grow sales and/or profit
Increase dividends to shareholders

e Non-financial aims:

Wider Business World

Tesco — used to aim to have
more than 50% of its revenue
from non-food. Changed after
Aldi and Lidl gained 10%
market share between them

M&S — aims are about
environment and sustainability
not profit

Dyson — James Dyson had a

Survival — having enough sales to o Ethical, e.g. no animal testing personal objective: to be
cover costs and still be trading o Achieve customer satisfaction successful rather than g}@;
Profit — when revenue is greater o Achieve a personal challenge profitable D
TRREE o Independence
o Help others — Jamie Oliver’s 15 restaurant (training _ .+ Synoptic Links
Sales volume — the number of P
youngsters) 5 -
products sold Enterprise — the non-financial
Market Share — the percentage of rewards for entrepreneurs are
total sales that one business has smjular_ to non-financial
objectives
Ethical — morally correct = g
R Don’t be a "man on the street” anca oM
Shareholder — an individual who understanding the difference
owns part (a share) of company e All businesses aim to make a profit — not true! between survival (break-even)
Dividend — the percentage of profit Social objectives can be important and so can personal obj¢ s and profit
that is paid to shareholders of a « Businesses will change their objectives over time — don't as o hi | ;
company each year that they always are aiming for the same thing whneranp oY COMpeies

will have shareholders; smaller
businesses are more likely to
have personal objectives

6




GCSE BUSINESS

Topic 1.3.2a Revenue, Costs and Profit

Business Studies

Key Vocabulary Core Knowledge Wider Business World
Revenue — Also called Turnover, Fixed costs Variable costs Amazon — has no high street
Income and Sales. This is the Rent Raw materials retailers so has fixed costs than
m‘;giztge“e"ated from selling your Rates Packaging a lot of other businesses
o _ Electricity / heating / phone bills | Delivery costs Bank of England — sets the
I f_ a:‘;ﬁ’gs& lt: e e Salaries base rate for interest that other
gttty of B > Insurance lenders then use

Fixed costs — costs that do not
change as the level of production

anae ther Tiitbe pald can i Revenue = Number of items sold x Selling price per unit

output/sales are zero, e.g., rent, Total Variable cost = variable cost per item x number sold
rates
Total costs = Total variable cost + fixed costs
Variable costs — costs that change 3
in direct relation to the amount sold Profit = Revenue — Total costs

or produced by a business, e.g., raw

aterol. padaiting Interest charged = amount borrowed x (interest rate +~ 100)

Total costs — All costs added

;o;,vf Linked Topics

Total amount repaid = amount borrowed + interest charged Exteanad fartors . changing

together Monthly payments = Total amount repaid =+ (years of loan x 12) interest rates can have an

L i impact on consumer spendin
Profit — when revenue is greater % Interest charged = (total repayment — borrowed amount) + 2 P 9
than costs borrowed amount x 100 Breakeven — when total costs
Loss — when revenue is lower than ————————————————=—= | are eXxactly the same as total
costs Don’t be a "man on the street” * revenue
Interest — a percentage charge on + Interest is not about how much people like your product! * Cash flow — unpredictable or
borrowed money / percentage e« Revenue and profit are VERY different inconstant revenue can impact
reward for saving money e Loans are not paid at the end of the term — they are paid in on cash flow

instalments each month
e Borrowing money is debt. Debt is not a bad thing unless, the
business can not pay it back

Sources of finance — interest
is charged on borrowing




Business Studies

GCSE BUSINESS

Topic 1.3.2 break even

Key Vocabulary

Breakeven point — when total
revenue = total costs (the business is
not making a profit or a loss)

Breakeven output — the number of
products needed to break-even

Margin of safety — number of
products produced above breakeven.
The higher the margin of safety the
better.

Revenue — Also called Turnover,
Income and Sales. This is the
money generated from selling your
products

Output — quantity of products made

Fixed costs — costs that do not
change as the level of production
changes. They must be paid even if
output/sales are zero, e.g., rent, rates

Variable costs — costs that change

in direct relation to the amount sold or
produced by a business, e.g., raw
materials, packaging

Total costs — All costs added
together

Profit — when revenue is greater than
costs

Loss — when revenue is lower than
costs

Core Knowledge

Calculating breakeven allows a business to use all its costs to
calculate how many products it must sell to cover ALL costs.

Break Even Chart

ot

Sales ($)

7 Quantity (Units)

The contribution method is a quicker, more accurate way to calculate
breakeven:

Break-even = Fixed costs + (Selling price — variable cost) [
Contribution = Selling price — variable costs O
Margin of safety= Actual units — Break-even units U

Wider Business World

Gordon Ramsey — watch any
of his ‘Nightmare’ shows to see
how he talks about knowing the
break-even number of meals,
and the importance of costing
each meal

High street retailers —
consider the impact of COVID19
on the breakeven point of most
retailers: what were their costs
and revenue during this period

Reducing break-even

* This can be done by reducing costs, for example new suppliers or
reducing the number of workers. However, quality my drop losing
customers, or poor customer service may lose sales.

» This can also be done by increasing prices. But increasing prices may
lose sales, especially from price sensitive customers!

- - -
pu{-”o Synoptic Links

Costs — knowing the difference
between fixed and variable
costs and being able to
calculate costs and revenue

Aims — breakeven (survival) is
an aim for a start-up business,
or one in a struggling market

Business plans — this
information is needed in the
plan to present to investors




Business Studies

GCSE Business Studies

Topic 1.3.3 Cash flow

What is:
The difference between cash and
profit is:

A business can receive lots of cash
but it doesn’t mean its profit. If the
costs are more than the cash
received the business is likely to be
making a loss

If the business does not have
enough cash it can:

Source finance — such as:

Overdraft — spending more money
than is in the account

Bank loan — borrow money from the
bank for longer than one year but will
have to pay interest on it

Share capital — sell shares to
investors in return for cash

Sell assets of the business
What is insolvency?

When a business lacks the cash to
pay its debts

Core Knowledge
Cash is important because:

It enables a business to purchase stock

It enables a business to pay its staff

It enables a business to pay its bills

It enables a business to research & develop new products

Cash inflows — money entering the bank account or business
Cash inflows come from:

Sales of stock

Sale of unused equipment such as a property or vehicle
Dividends or interest received

Bank loan received

Sale of shares

Cash outflows — money leaving the bank account or business
Cash outflows go on:

e Paying wages
e Paying for stock

* Paying the bills

* Paying back loans

Opening balance — the amount of money at the start of the month, or
last month’s closing

Net cash flow — inflows minus outflows
Other words for inflows and outflows are receipts and payments

Closing balance — the amount of money at the end of the month,
Opening balance ADD net cash flow

How can a business improve
its cash inflow?

Increase its sales/revenue

e By advertising
e Reducing prices

By de-stocking — having a sale to
get rid of all the old stock

Get customers who have credit to
pay sooner

Have an injection of long-term
cash — such as a bank loan or sell
more shares

How can a business reduce its
cash outflow?

Find cheaper suppliers
Rent/lease rather than buy

Take longer paying the bills that
you have (cash stays in your bank
account longer earning interest)

©




NAME: Topic 1.3.4 Sources of finance

Business Studies

Core Knowledge
A business will need finance at three key times:
» At start-up to help fund start-up costs, e.q. initial stock
» During periods of expansion to fund new buildings, legal costs, etc
* During periods when cash flow is poor
Description Short or Internal or | Benefits Drawbacks
Long Term External
Overdraft Facility which enables a business to use more Short External Available if needed High interest rate if used
money than is in their bank account
Trade Credit Supplier allows a customer 30 days to pay their Short External Free No further credit if bill not paid —
bill Helps cash flow by paying later | meaning no further stock
Personal Cash an individual has saved or received from Long Internal No interest to pay Might not be large sums of money
savings presents
Retained Profit kept from previous years, accumulated Long Internal No interest to pay New businesses, or loss-making
profits after paying tax and dividends businesses, don't have any
Venture Share and loan capital providing by an investor Long External Advice and support provided Investors want large slice of the
capital willing to take a risk. For example, Dragons Den by venture capitalist business
Share capital | Capital raised from the selling of shares to Long External Can raise large sums of capital | Loss of control
investors. Buyers of shares are shareholders Have to pay dividends
Bank Loan Cash borrowed from a bank. Paid back monthly Long External Can raise large sums of cash Takes time to arrange
over a period of years Pay back in small amounts Interest has to be paid
Crowdfunding | Raising capital online from lots of small investors | Long External Wide range of investors — via Amount required may not be met
after pitching the business idea, e.g. Go Fund Me internet
Key Vocabulary Don’t be a "man on the street” Synoptic Links
Interest — the charge on borrowing e Being in debt is not a bad thing and won't always Interest — calculating and understanding the interest
money [] lead to business failure rate will help to understand which sources are cheaper
Dividends — the part of the profit that is = Many businesses borrow to finance growth External factors — influences on businesses indude
paid to shareholders as a reward for their e You pay back loans and mortgages each month, not the interest rates
e ) BLIE ctie ok e e betiol Ownership — remember that only Lid’s can sell shares
Mortgage — a type of loan that is )
secured on property. Interest can be Costs & breakeven — interest and loan payments are
fixed or variable ] fixed costs 10




Child Development

ROS9: Development Norms for 3 — 5 yeors old

Key words:

“Growth of @ child’s ability to think”™

wWhat it means:

Intellectual development The development of the brain Known as cognitve development; including language,
reading and writing, communication and number skills
Communication How the child socialises Using Istening and thinking skils to understand what to
sy in order far the child to get what they want.
Litesacy Reading, writing and language skills | The ability to read and write and vse language skills,
Numeracy Mathematics/Maths The ability to recognise, understand and use numbers.

What are the 3 main catego@@r intellectual development?
—

—

Numeracy Skills
What does the term ‘numeracy skills” refer to?
This is finked to problem soling and reawoning and
s known as number skills,
What examples of numeracy skills can you recall?
=  Speaking and usng numbers e g there are
2 apples
=  Counting — mcluding mathematical number
sQuares
=  Recognising numbers eg 1,23 et
= Using mathematical ideas e g. size, shapes,
mass
= Recognising and drawing shapes e g.
triangles
=  Recognising and making patterns .. add
and even numbers, seguencing
= Using the correct vocabulary e.g. adding
and taking away
=  Simple calculations e 2+2

S e A 8 o A e

‘,C}

4

O

N

Communication Skills

Describe the term communication:

Childr

en use communication through observing and

copying what they hear/see,

What
1)

2)
3)
1)
5)

6]

are the six examples of communication?
Body language — expressing feedings through
the pasitian of their body
Listening - being able ta hear and
understand what is being said
Verbal - buidding on the vacabulary that they
hear
Gestures — painting to things that children
want
Sign language — children with heanng
IMpar ments may use sign language
Reading and writing — using the written form
10 communicate

~

O

C

-

- -

— 3

| ZmE Literacy Skills

L oweracy is the ability to read and write.
How are literacy skills developed?

® Reading and writing

when should you begin to develop reading skills?
Dawsloping 2 love of books with a3 child will help
with this sXill. This can be developed from an sarly
age and can be encourzsged through reading books
to 2 child from birth. This will help them to
davelop their speech and languags skills.

Language
Language is used 1o communicate 35 children
listen and understand what they want to say. They
us= their thinking skills in order to g2t their
meass3ge 3Cross.
what 3 factors improve a child's literacy skills?

]




Child Development

Playing

Types of Play

Alsa known as independent play, s

Play alone ane of the eachiest stages of play
where children play alone because
they hawve nat developed sacially to
be able to phay with athers.

Parallel Playing | Children playing side biy side, but

Play along- nat interacting with sach other ta

side continue their play.
others
Assodiative | Imarested | This is the development of sacial
play inthe play. It is penerally the first stage
e where social interaction is reguired
acthvity as in children®s play as they engage in a
::: mutual activity, though not working
. toward a cammon goal.
with them

Co- Playing Cooperative play foruses on

operative with children working together to

play someone | achiewe 3 commaon goal such as

elie building a play structure, putting

together a puzrie, or engaging
n dramatc play. it has been
described as the stage where
children play in 2 group.

What is 8?2 What are the zxaompies of sxch type of play?
heir dands, (Fire motor k| ,""’s,"‘",“""'“’"“'”'”"
o0 SxRple U0 MOV, T O 1
mm:mm -Crd‘tl” ‘,“m
Constriction boys
Play which takes sccountof | OO Eames |
onters actions within thasr |+ I games {hare we g0 round the muerry bush/ the farmers is bz
phay togecher; shanng, grovp | 9e0
playeg shopkeepersand | - Playiround games [ahat’s the tme Mr Wox?|
CUStDemess, OF games that Imagirary role play {dressing up/ toys/ tesdies/ tea sets)
have ndes 2o faliow. * irvaginary play with Small world toys [cars/ faem set/ dolls Soute)
Solitary play: Where the child pioys slome, | ~ Imagieary piay [rofe play) smal workd piay|
A i thair owre Ipace, Puxzies
pos wiplorng and Bocks
a'_\‘ expecimerting with objects. | - VISea/ compuner garras
' Bali garmes
Pray that invoiees g10ss motor | - Runming! jumping/Siipoing) hcpping/ orawtieg #c.
sz, the mescies and mowing | - Playiround equipmen [58des/ seings)
arourd, such as foctbalora | < Rde—on—1oys ard bikes
imbing frame Pash and poll toys
Dancing
Where chidren sxpenment * MG sne Sancs
% - with materals, colags, Mark seghing |painsing drswing meting)
A5 w | B panting music, imagirasion. | - Making models
N . - £3ng and waner play
e s
s Iragirery play

N
) O




Child Development

1809 — Cambridge Nationals Level 1/2 Child Development
ROS57 — Health and Wellbeing for Child Development

TA1l: Pre-conception health and reproduction

1.1. Factors affecting pre-conception health for women and men

Factors that affect the decision to have children

— Relationship between partners — Finance - Parental age — Per pressure/social expectations

— Genetic counselling for hereditary disease

Factors that can contribute to infertility probiems

Women — Being overweight can affect ovulation, which can in turn affect fertility and make it
harder to conceive. Being underweight can affect periods and ovuiation, which can both affect
fertility and make it harder to conceive.

Men — Being overweight may affect the guality and quantity of sperm. Being underweight can also
reduce a man’s sperm quality and therefore his fertility.

Smoking can make conception more difficult. The risk for fertility problems increases with the
number of cigarettes smoked each day.

Women — Fertility can be affected.

Men — May have a lower sperm ccunt and may also produce a higher proportion of abnormal
sperm.

Men — Drinking excessive alcohol can cause men to have lower sperm counts, and it can affect the

quality of sperm.
Women — Even drinkingi_ghtly can have an effect on women’s fertility.

Recreational drug use can affect fertility in both men and women. If taken over a long period of
time, recreational drugs can cause permanent problems with the reproductive system and
infertility.

Women — As a woman ages, her ability to conceive and the quality of her eggs begin to decline.
This decline becomes more rapid after the age of 35.

Men — Men produce sperm all their adult life, including into old age. As long as they are capable of
sexual intercourse, men can father children.

1.2. Other factors affecting the pre-concegtion hesith for women

Taking folic acid during pregnancy can help prevent birth defects known as neural tube defects.
This includes spina bifida, a condition where a baby's spine and spinal cord do not develop
properly. Women are advised to take 400 micrograms {mcg) of felic acid per day as a suppiement
before conception and until the 12™ week of pregnancy. They should also eat folate-rich foods
such as green vegetables, brown rice and fortified breakfast cereals, to consume a combined total
of 6000 mcg of folate a day from folate-rich foods and a suppiement.

Up-to.date

Keeping immunisations up to date will contribute to keeping a woman healthy both before and
during pregnancy. This in turn benefits the baby.

Vitabiotics,

fregnaiciire

conception

trying for & baby

Fobe Ac, bosad,
O 8 B2 Co0O%0

ESSENTIAL NUTRIENTS
NEEDED DURING PRECONCEPTIO

FOLIC ACID

® Foures rmatiraly »insly [roas ooy i

* IVEONENOe N SNy pIsransy
* Found ranraky rrodh & cheoses

o Toeos lonper kor reserses o S i

oy

e (SLSA Y VUL A el
* D5 preYeIT e g
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1809 — Cambridge Nationals Level 1/2 Child Development
RO57 — Health and Wellbeing for Child Development

TALl: Pre-conception health and reproduction

1.3. Types of cantraception methods and their advantages and disadvantages

Barrier Methods Hormonal Methods
T Male and female condoms — A male condom is a sheath made from ethod Contraceptive pills: Combined pill — A tablet containing hormones
Mot latex. A female condom is a sheath made from polyurethane. —_ = (oestrogen and progestogen) that prevent ovulation.
Advantage It helps protect against many STis. Advantage Using this method does not interrupt sex.
Disadvantage Can come off or split open, making it ineffective. Disgdvantage Ineffective if the woman vomits or has severe diarrhoea.
) Diaphragm or cap — A dome-shaped piece of latex or silicone that Contraceptive pills: Progestogen-only pill — Causes the mucus in the
o covers the cervix. Method cervix to thicken so that sperm cannot come into contact with an
a3 Helps to protect against some STls. ege.
15 IgE Can cause cystitis. Advantage Can be used immediately after giving birth.
MNatural Family Planning Licadvaniacze | Side effects: spot-prone skin, tender breasts, irregular periods.
Temperature — Monitoring her temperature. Contraceptive injection — An injection received every few weeks
Methods: Cervical Mucus — Monitoring bodily secretions. Method which causes the mucus in the cervix to thicken so that sperm
Calendar — Monitoring the dates in her menstrual cycle. cannot come into contact with an ege.
. Methods are compatibie with all cultures and faiths (because some — Suitable for those who find it difficuit to take a tablet at the same
e do not permit the use of contraception). PR~ i time each day.
Disadvantage Requires rigorous tracking and monitoring 1o be accurate. After stopping the injections, it can take up to a year to get fertility

Child Development

levels back to normal.

Contraceptive implant — A health professional will insert a small

Hnw EFFECT'VE ls Ynun BlRTH CUNTROL? Method flexibie tube into the skin of a woman’s upper arm which releases

progestogen hormone into the body.
ﬂ;’lﬂ" 1o Advantage Can be used immediately after giving birth.
e 5 > Disadvantage Periods may change to become lighter, or heavier and longer.

Intrauterine device/system — A small T-shaped plastic device
inserted intc the uterus which releases progestogen hormone.

Method

T
\\ Y l

= : ; : T ——— Advantage Effective for 3-5 years, depending on the type.
. m:'v:* o= """_’“,“'4“.- B2 e P inp he : X Disadvantace | May make periods lighter, shorter or stop altogether.
P g,,m,,mm . , mormh =i Method Contraceptive Patch — Worn on the skin and introduces hormones

vears 2 (oestrogen and progestogen) to the body.
Advantage Still effective if the woman vomits or has severe diarrhoea.

‘ » ; : ‘ Disadvantage Side effects: Headaches and raised blood pressure.
Olumcsa homtog vy s Ouvzo o girgngve: O g engrak O it | 0 .t = == Emergency contraceptive pill — Prevents pregnancy after a woman
\ T s mowener Stk b ' gl (¥ SO A : ; pchiiscois has had unprotected sex or contraception method has failed.

 MOSTEFFECTIVE = Advantage Availabie free of charge from some clinics. -
i

Hzadvantage Must be taken within a specific time frame {3 or 5 days).




Child Development

J809 — Cambridge Nationals Level 1/2 Child Development
ROS57 — Health and Wellbeing for Child Development

TA1l: Pre-conception health and reproduction

1.4, The structure and function of the reproductive systenss

The femaie reproductive system

Male reproductive system

Control the production of the hormones cestrogen and
progesterone, which govern the deveiopment of the female body
and menstrual cycle. Inside the ovaries are undeveloped egg cells
called ova.

The scrotum contains two testes. These make millions of sperm
and produce hormones including testosterone, which governs
the development of the male body.

Fallonian

tubes

These tubes connect the ovaries to the uterus and are lined by
minute hairs called cilia. Each month, one of the ovaries releases an
egg into a tube, and the hairs help the egg to reach the uterus.

Sperm duct

s P TS VN 53
emy Emaiaymis

The sperm duct system consists of the epididymis, which
contains the sperm, and the vas deferens, which are the sperm
ducts (tubes) that sperm pass through.

Uterus/w

omb

This is where the foetus grows and develops. it is here that an egg
will become implanted.

I_Hr_'::'-.' 3

This tube inside the penis carries both urine and semen, but not
both at the same time. A ring of muscie controls this.

This is a very strong ring of muscles between the uterus and vaging,
and it is usually closed. it keeps the foetus securely in place in the
womb throughout pregnancy. The cervix dilates (opens) during
labour to allow the baby to be born.

Fenis

Vas deferens: A muscular tube that extends upwards from the

testicles, transferring semen that contains sperm to the urethra

Seminal vesicles: A pair of glands found in the male pelvis. The
_glands produce many of the ingredients of semen.

Connects the cervix to the cutside of the body. It is here that the
man’s penis enters the body during sex. Folds of skin called labia
meet at the entrance of the vagina, forming the vulva. Urine passes
through the urethra, which opens into the vulva but is separate from
the vagina.

The ma2ns

cycle

trual

This is the cycle in which women have their periods and are fertile
{can conceive). Girls begin having periods when they are sexually
mature (average age: 12) until menopause (average age: 51).

15




J809 — Cambridge Nationals Level 1/2 Child Development
ROS7 — Health and Wellbeing for Child Development

TA1l: Pre-concepiion health and reproduction

1.5. How reproduction takes place 1.6,

The signs and symptoms of pregnancy

Around day 14 of the menstrual cycle, an egg is released from one of the ovaries and travels
along the Fallopian tube.

A sperm penetrates an egg following ejaculation of sperm from the penis into the vagina. The
sperm passes through the cervix and uterus, and meets the egg in the Fallopian tube and
loses its tail. The egg and sperm then fuse as one cell. The fertilised egg continues along the
Fallopian tube. Between 4-5 days later, there is @a mass of arcund 16 celis. This forms a ball of

— Become larger

— Feel tender

— Feel tingling

—Veins more visible

— Nipples appear darker
— Nipples stand out

tissue {the blastocyst). MRS cc

After around another 7 days, the fertilised egg arrives in the uterus and implants itself in the

— The first sign of pregnancy is a missed
period or a very light pericd.

enriched lining. Once it is attached firmly, conception has been achieved and the egg is called
an embryo.

Amniotic fluid: The protective liquid which is contained in an amniotic sac. This provides a Nausea
cushion for the foetus, helping to keep it safe from bumps and injury. It also contains
nutrients, hormoenes and antibodies for the baby.

— Feeling sick and nauseous, and/or vomiting
during pregnancy can occur at any time of
day.

— This symptom generally begins 6 weeks
after a pregnant woman’s last period.

Umbilical cord: A tube that connects the foetus to the mother during pregnancy. it has a vein
that takes food and oxygen from the placenta to the baby, and two arteries that carry waste fre
from the baby to the placenta.

— Pass urine more frequently
— Constipation
— Increase of vaginal discharge

Placenta: An organ that develops in the mother’s uterus during pregnancy. It is attached to
the wall of the uterus. The baby’s umbilical cord arises from the placenta. The pilacenta
supplies oxygen and nutrients to the baby and removes waste from the baby’s blood.

How the embryo becomes a foetus: At the age of 8 weeks, the embryo becomes a foetus.

Child Development

Identical twins: One fertilised egg divides into two cells.
Non-identical/fraternal twins: Two separate eggs are released and fertilised by two different

sperm.

— Women may feel tired or exhausted,
particularly during the first 12 weeks of
pregnancy, because of hormonal changes in
the body.

— These hormonal changes can also cause a
woman to feel emotional and upset at this
time.

I TRIMESTER
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* A computer's CPU is made up of
millions of tiny switches called
fransistors.

* These switches can be either on or off.

* We therefore use binary to represent

* Two or mere logic gates are often used one after the other.

* This could be several of the same gate. or several different gates.
* This is known as a Logic Circuit.

|t is important to consider the order in which the gates are used.

* We can use diagrams and truth tables to represent these as

these switches, since a binary digit can shown below.
be either 0 or 1. n
» (0 represents a transistor which is off, 1
represents one which is on. n E n

Truth Tables

» Used to show the output of logic gates

* Binary — a number system containing
two symbols, 0 and 1. Also known as
Base 2

A B C D Q
()] or logic circuits. cJlojojJo]jo
(@) * To create a truth table: o|Jlo|1]Jo0}o
C o Calculate how may rows are needed oli1lololo
GJ (2Znumber of inputs) o 2 T 1 S
5 = So 4 inputs would need 24 or 16 -
rows 1 0 0 0
(D = List the values for each input 1 0 1 0 0
= Work through the diagram to 1 1 0 0 )
— complete the output for each possible
O ; BEUES XS E]
input
5
g— 2.4 — Boolean logic
o The AND Gate The OR Gate The NOT Gate
O * Will output 1 if both Aand B are 1. *Wili output 1 ifeither Aor B are 1 ¢ Has a single input * L ogic Gate — components which
o Will output O if either Aor Bis 0. * Will output 0 if both A and B are 0 ¢ Inverts the input (1 becomes compare one o more inputs based on a
s Writtenas A/\B * Written as AVB 0 and O becomes 1) logical function to provide a single output.
A o Written as NOT A * Logic Diagram — a diagram showing one
Y A or more logic gates.
B Y A Y * Transistor — components contained in
B the CPU which can be either on or off.
* Truth Table — a table representing the
possible outputs of a logic gate or
5 AN ZIET 2 wora RIS
0 0 0 0 1 * Logic Circuit — two or more logic gates
0 1 1 1 0 used together one after the other
1 0 1
1 1 1

-l Oo
—“iIDlalo
-“lololo




Computer Science

» Breaking down complex tasks into simple steps.
« The order of steps matter
« Step by step progress through a program
» Benefits
o Each line follows the next.
o Can create simple programs very quickly.
o Easy to follow for a small program.
« Disadvanlages
o Not very efficient.
o Difficult to follow with large programs.
= Hard to maintain.

« Integers — whole numbers e.g. 27
« Reals — numbers containing decimals e.g. 56.2

i

A

Sub

| e Used to Séifo (imevanc‘t

simplify code

« Allows the same code to
be used several times
without having to write it
out each time

« Procedures are sets of
instructions stored under a
single name (identifier)

« Functions are similar to
procedures but will always
raturn a value to the main
program

« Parameters are values
passed into a sub program.
These are referred o as

« An ordered collection of related
data

« Each element in the array has a
unique Index, usually starting at 0

« All elements must be the same
type of data

« Arrays are usually a fixed size

« 1D arrays are similar to a simple
list, each element needs a single
index number

« 2D arrays are similar to tables,
with each element needing two
index numbers

« 2D arrays are usually used to
store properties of objects, with
objects in rows and properties in

- The Use Of Records To Store Data And SQL
« Data is often stored in databases, providing persistent storage for data.
« Data within databases is stored in records, which in turn are stored in

files.

« Records contain several attributes, each attribute is a single paint of data.
« SQL (Structured Query Language) is a programming language designed

for interacting with databases.

* SQL uses the SELECT command to search and read databases

SELECT * FROM Books [Retumns all columns and records in the Books

table

SELECT Title FROM
Books table

Returns only the title column from the Books

SELECT * FROM Books [Searches the Books lable for records whers the
WHERE Author="Bob” _|Author is Bob. Returns all Columns

SELECT * FROM Books [Searches the Books table for records where the
WHERE Author="Bob™ |Author is Bob or Tim. Returns all Columns

or Author="Tim"

SELECT * FROM Books [Searches the Books tabie for records where the
WHERE Author!="Bob" _|Author is not Bob. Returns all Columns

SELECT Title FROM

Searches the Books table for records where

)i 3
» Boolean — TRUE or FALSE o S ! arguments when calling the | | columns
« Strings — alphanumeric characters e.g. hello sub program » Fruits[1] references element 1 in
« Casting is used to convert data from one type to f E//}j « Both procedures and the 1D Fruits array
another. This is often used to convert string ./ functions can accept * Tools[0,2] references element 0,2
input to integer or real to allow for calculation parameters in the Tools array
2.2 Programming Fundamentals
= stringname.length ~ retums the length of a string Arithmetic Operators « Files can be opened for reading or writing
» stringname.upper — converts the string to uppercase +  Addition * Append mode adds to the end of the file
string = “John” - Subtraction * Write mode overwrites existing content in the file
— — - myFile := OPEN Opens test.ixt in
string.length The length of the string | 4 . Multiplication ("test.txt") FOR read mode into the
string.upper Convers to upper case | JOHN I it READING [ myFile able
string.lower __| Converts to lower case | john Modulus (the remainder WHILE NOT myFile.EOF | Uses a while loop lo
string.substring(l,Z) | Returns part of the oh MOD  from a division, e.g. 12 ( T output each line of
string MOD 5 gives 2) myFile READLINE() the file (READLINE)
string.left(3) Returns from the left of | Joh ply  Quotient (integer division, END WHILE until the end of file
the string eg. 21 DIV 5 gives 4) (EQF) is reached.
string.right(2) Returns from the right hn A Exponentiation gto lt.ae myFile CLOSE () Closes the file
hand side of the string 2 _isp‘”';' of, :')9' 3°3 gives 27)
stringt+string Concatenates or joins | JohnJohn B ax e kvl mzfik"f‘f‘s“ Opens the logfile.txt
strings = Equal to ( .;Sg-—. file in ‘append mode,
= Not equal to AREEND meaningthe
existing content is
— < Less than preserved
e Keywords <= Less than or equal to myFile WRITELINE ("TEis | Writes to the end of
Variables: > Greater than iz a log eatry”) the file
« A box in which data may be stored g myFile CLOSE() Closes the file
« Content changes as the program runs. o Greater than or equal o
2 Dsi‘:ferenl PSS S0, g, el % ANDleanMgmms must be met myFile~0OPEN Opens the
Assignment: - yFd ::v PE = = -
« The process for changing the dala stored in a variable for the statement lo be true i ool le.txt®) FOR | textfile.txt file in
« Copies a value into a memory location ORl & 8t l:\e:s:am cf::‘:"";‘ ;u“:t be el wiite mode,
« Different values may be assigned to a variable at different times during :‘Schinv;ts the res u:: e.g.NOT(A :::ﬁ':ggcglrzenl will
% g’:;"::m:’nf "‘°‘3“’.";s o G R i i i AND B) will only be false when both be overwritten
Constants: Aand B are true Ti :l?o:‘:—rii;:? ("This m’ﬂraﬂ: content to
« Data does not change as the program runs ~FiTe. CLOSE()
« Used to reference known values such as pi S See et b
Inputs: T —
« May come from the user, a file or elsewhere in a modular program ‘Random Numbers

» Usually treated as text even if containing numbers

OQutputs:
« The end result of the program

» May be displayed on the screen, writlen to a file, or sent to a device

Operators:

= Used to manipuiate and compare data

Books WHERE Sales is greater than or equal to 100. Returns
Sales>=100 only the Title column
« Aliows the program to make * Running through or ‘iterating’
decisions through a set of steps several times.
« Uses conditions to change « Also known as looping
the flow of the program « Count controlied iteration
» Selections may be nested o Repeals the same code a sel
one inside another number of imes
« IF statements perform o Uses a variable to track how

comparisons sequentially
and so the order is
important

* SELECT CASE has less
typing but is less flexible

IF X > 50 THEN

OUTPUT “A*"
F 30 THEN
T

am
=]
mo
L~

™

OUTPUT “Fail"™

SELECT CASE X
CASE >100
QUTPUT “A*”
CASE >80
QUTPUT "A*
CASE >60
QUTPUT "B"
CASE ELSE
QUTPUT "Fail"
END SELECT

» Many different applications in computer programs from shﬁuialing du:e in c&;\pu!er games, to cryptography
« Depending on the language we may specify just the maximum number assuming starting from 1 (e.g. roll = random(5)) or the first

and last possible values (e.g. rofl = (3.9))

« In many cases our desired output may nol be a number and so we must then use selection, such as an IF or CASE statement, to

convert the number into an actual choice

» We can also use the random number lo select a random element from an array. This is more efficient then writing lots of IF

statements.

o

o

[}

many times the code has been
run
This variable can be used in the

loop

Al the end of each iteration the
variable is checked to determine
if the code should be run again
FOR sels how many times the
code should be repeated

NEXT tells the code to return to
the start of the loop

STEP sets how the variable
should increment

« Condition Controlied lteration

o

Uses a condition 1o determine
how many times code should be
repeated

While loops will run whilst a
condition is met and use the
statements WHILE and
ENDWHILE

Repeat loops will run until a
condition is met and use the
statements REPEAT and UNTIL

“Hells World"™)

count = count ¢ 1 18

ENDWRILE
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Creat

Mood boards and Visualisation Diagrams

Scripts and Mind Maps

(digital only) Video

(physical only) Fabrics

Development

Gradual improvements

I Mood boards: Content ; Mood boards: Purpose Scripts: Content I Scripts: Key Vocab
1 |Images | 1 |Generation of ideas 1 |Dialogue | Audio To do with sound
2 | Colours 2 | Development of ideas 2 |Stage directions Audio-visual Combining sound and pictures (i.e. films)
3 | Colour schemes 3 | Communication of ideas with clients or colleagues 3 | Sound effects Formatting How the words are presented on the page
4 |Fonts 4 | Creating a mood or feel 4 | Names and details of characters Indentation Set in from one side of a page
5 | Graphics | Mood boards: Key Vocab 5 | Music or ambient sound Dialogue Talking between characters
6 | (digital only) Sound Generation Creation O |Lacation
7
8
9

(physical only) Materials

Physical

On paper

Digital

On screen

l Visualisation Diagrams: Content

Visualisation Diagrams: Purpose

Drawn images

1 |Show how a finished item may look

Different viewpoints (eg bird’s eye, plan etc)

Plan layout of a product visually

Graphics (eg logos, barcodes etc)

3 |Show actions or interactivity

Layout

Font and style of text (not necessarily the
content)

Visualisation Diagrams: Key Vocab

Graphics

Images made of simple shapes and colours

6 | Annotations showing details (eg size,
interactivities, colours etc)

Layout

The way parts of something are arranged

Target Audience
Categories

Gender

Age

Ethnicity

Income

Location

(N[ (WIN (=

Accessibility

Interactivity

The way something reacts with something else (eg what a

button would do on a webpage)

| Scripts: Purpose

PASDENT - DAY

actors

1| Show the dialogue and delivery directions for

A, RINL WORLD

gt Bita the groasd. His €ysd Ol

2| Indicate sound effects and scene
requirements for production crew

3| Outline of a production for clients,
advertisers or any other stakeholders

| Mind maps: Content

1 | Central node with main theme e vorld da thac)
2 | Sub-nodes with related general ideas RN S
3 | Sub-sub-nodes with specific ideas
4 | Links between nodes | Mind maps: K&y Vocab
5 |Text to show ideas Node An idea in a mind map
6 |Sometimes Images Sub-node  |A node which is further away from the central node (i.e.
: | Mind maps: Purpose Menu is a sub-node of Website. Info is a sub-node of Menu)
1| Generate ideas Link A connection between nodes
2| Develop ideas General Relating to lots of things

w

Visually display how ideas might relate

Specific Relating to few things

I

Camera Vocab

Camera Shots

House Style

Establishing shot

Wide angle including characters and setting

Two shot

Shot including two characters in dialogue

Fonts

Close up

Shot of one character’s whole head

Extreme close up

Shot of a particular detail (should be used sparingly)

Camera Angles

Colour schemes

Low angle

Shot from below, looking up at a character

Logos

High angle

Shot from above, looking down at a character

Mid angle

Shot showing the upper body and head of a character

Wide angle

Shot including the whole body of a character

S W IN =

Design styles

Over shoulder

Shot with the back of a character’s shoulder and head
in the foreground, putting the viewer in the scene

Point of View

(normally hand held) shot as if the camera is the eyes
of a character, putting the viewer in the position of thé9

character




L AA: Use rehearsal processes

Health and safety

Attitudes to others including:

Cooperation, Being
supportive, Listening to
others, Punctuality,
Consistency, Commitment,
Reliability, Being prepared,
Being respectful
Interpreting existing
performance material
Responding to feedback
Warming up/cooling down
Learning and recalling
movement material
Experimenting and
improving skills and
techniques

LAB: Apply skills and technigques

physical skills e.g. actions, alignment, accuracy, balance,
coordination, contraction, communication, dynamic range, energy,
expression, extension, facial expression, flexibility, focus and control,
gesture, movement memory, pace, posture, projection, rhythm,
relaxation, stamina, spatial awareness, suspension, swing, trust, use
of weight

Applying physical and interpretive skills to a performance
Communicating the meaning of a piece of existing repertoire

| AC: Review own development and application of performance skills

Review development and application of skills.

Responding to feedback, e.g. choreographer, teacher, peers.
ldentifying strengths and areas for development.

Actions and targets for improvement.

Reference to professional working practices.

Use of terminology appropriate to the discipline/style of

performance. ”




Year 10 Dance - Component 2

Physical skills:

Technical skills:

Strength
Stamina
Posture
Balance
Co-ordination
Extension
Flexibility
Alignment
Isolation
Mobility

Control

The power exerted by a muscle.

Being able to maintain physical energy

for a period of time.
The way the body is held.

A steady or held position through even
distribution of weight.
Efficient combination of body parts.

Lengthening a muscle or limb.

The range of movement at a joint.

Correct placement of body parts in
relation to each other.

An independent movement of an
individual body part.

The ability to move fluently from one
movement to another.

The ability to start and stop a
movement, change direction and hold a
shape efficiently.

Accuracy
Timing
Dynamics

Action

Spatial Content

Spatial
Awareness

Being correct and precise in a
movement.

The use of counts when moving to sound
or music.

How a movement is performed.

Gesture, Turn, Elevation, Travel Stillness

Pathway, level, direction, size of
movement, pattern, formation.
Being aware of other dancers around
you.

Expressive skills:

Focus
Facial Expression
Projection

Phrasing

Communication
of Intent.

The use of eyes to enhance
performance.

The use of face to communicate mood,
theme or atmosphere

The energy a dancer uses to connect
with an audience

The way which the energy is distributed
in a movement phrase.

Communicating the theme of the
performance

Strengths- The area

which you are good at.
This could be a specific
movement or sequence
of movements.
Weaknesses- The area
which is incorrect. This
could be a specific
movement or sequence
of movements.
Targets- Ways which
you can improve the
weaker areas of a
performance.

Setting Targets- Be
specific and identify
what needs improving,
how specifically it can be
improved and a time
frame of how long it will
take before
improvements can be
seen.




Year 10 Dance - Component 2
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Theme: Destinations

Repertoire: So Lonely from Message In A Bottle.

“the place to which someone or

Choreographer: Kate Prince

Dance company: ZooNation

something is going or being sent”

Svnopsis:

other and have to persevere alone.

Message In A Bottle is an imagined story about one family. In a village in a country
far away, the community live well and support each other. But when civil war breaks
out, this idyll of existence is devastated as the community is broken and homes
destroyed. We follow the fortunes of a father, mother and their three teenage
children who face this brutal reality together. They are confronted with impossible
choices. In order to survive, they must leave their homeland and undertake a
perilous journey to safer shores. Along the way, they will be separated from each

[=]

ZooNation:

“ZooNation was founded by Kate Prince
in 2002 and is best known for its work in
the theatre, creating full length narrative
dance productions influenced in equal
parts by musical theatre, Hip Hop culture
and music.”

Kate Prince:

“ZooNation was founded by Kate Prince
in 2002 and is best known for its work in
the theatre, creating full length narrative
dance productions influenced in equal
parts by musical theatre, Hip Hop culture
and music.”

Creating So lonely:
“Filming this section was
really interesting. We had
to film the shadow
projections on green
screen prior to opening
and therefore had to
make sure the
choreography was set
early on and then
executed perfectly every
show by the dancer so as
to be synchronised with
the shadow projection
behind them.” 22




Design and Technology

i Diagram Material Products Made Key info
Screen printing places paint on top of a screen. The screen has a stencil
Screen- Posters, signs and | embedded in it, so when the paint is passed across it the desired shape is printed
printing fapesand Tatles t-shirts underneath.
Good process in one-off and batch production as often done by hand
Offset Rollers containing the colours and water go onto the plate cylinder. The water
Lithogra Pi(’fh?:‘s ?Iggi;?erd ne?ssterse’rs stops the colours sticking to certain places, creating the shape. The shape is
h P pléstis) ol asné':':) 4 transferred between rollers and onto the material.
Y ags Can be used at batch and mass production
Chair legs, Material is placed between the tail stock and the headstock and spun at high
Lathe Wood and mekit i5 sebanegba'ts speed. The material is then cut using specialist tools (either by hand or my
Turning )eylindrical items) automated machinery) to the desired shape.
&y Can be used in one-off and batch production
s Molten metal is poured into a chamber and a plunger forces the metal through the
('als”;n Metal gz:npa';i’ ngng:t‘f nozzle into the mould. Unlike sand casting, the mould is reusable.
9 po i Good process for both one-of and batch production
Plastic granules are poured into the hopper and onto the screw. The screw moves
Injecti the material towards the heater where it turns into a liquid. The liquid is then
Mouldin Plastics Chairs, toys, etc forced into the mould, cooled and released.
9 Great process for mass production as it makes 100s+ of products at once, to a
identical standard.
Name/ Type How many it makes Key Info Examples of Products
= Also known as Bespoke or Prototype manufacture
+  Custom-made products *  Towers / Bridges
One-off Production 1 *  Specialist workers/ skills *  One-off Houses
*  Specialist machines and materials *  Custom made clothes
*  High Quality but expensive
*  Uses a mix of workers and machinery * Baked foods
*  Uses jigs, moulds and templates to help make identical products * Limited edition car
R 20510005 «  Stations of workers e.g. cutting station, painting station, etc * Socks
= (Can have some variation e.g. colour, finish, flavour * Chairs
*  Big assembly lines (and sub-assembly lines) * Cars
*  Heavily automated * Bottles
Wiass 40,0005 < 100,0005 *  Standard and identical products * Microchips
«  Little worker input * Plain shirts
*  24/7 production * Energy
*  Heavily automated * Water
Aontintions 100,005 =  Standard and identical products * Paper
*  Little worker input * Plastic

23



Design and Technology

rlies: Timbers & Manufactured Boards

Materials and their Propertie:
HARDWOODS

They ars decidusus tress which means that in winter, they lose their

leaves.

Thase treas ore broadisaved. bushy ond slow prowing

Overall they tend to be harder 1o work with and moe
expansive thon other types of timbers

They ore less porous and denser cell structure which
makes tham harder wearing and less prene tarothing.

f

SOFTWOODS

They are conferaut fraes which meant that they keep heir lecves in

winter

vergreen.

Thase freas are 1ol ord *Chattmas tree’ tree shopad

Overal they tend o be easier lowork with and less
expentive than other typas of imbers.

They are more porous (heles) end 1 urpotected wil rot.
They have cones lor aves ond row quickly.

TYpES:

MANUFACTURED BOARDS

They are theets of processed natural fimber and adhesives - 1o
they are human made boards

Thete cre wsudly mode from watle wood, low-grade and

recycled imber.

Coan be cavered by thin sices of high cusity wosd trown at
venzer 1o make It ibok cestheticdly pleasing.

Cheopar than natural imber Thay come in boares and have ro gran

Mechanical Systems

Forces

Cc
o <
m
': Linear
| N
s
s She
i 1. f
o v 3
n . Ll o
. o ?
Levers Gears and Pulleys
[Lose] . Gears have teeth that
L-J mesh together with

&

| EMOR

o ¥

1%t Class Lever:
Fulcrum in the centre
E.g. Scissors

2nd Class Lever: =

Load in the centre
E.g. wheelbarrow

dy
=N
¥ o

Cedar

Fesy fo work. can

unt 1oots, fnkhes

well and raturaty
resstant ta rot

Cutcoor fumiturs.
fence: ond claddrg
for bulding:.

Name Charocteristics Uses Name Characteristics Uses Name Characteristics Uses
Ak / Flexble, fough and  |Spotsequipment and|  |Lach Durable, tough and Extericr clocding, e Rigid and srobe, good | Flat pack turiturs, toys
y shackresistant, fodl handles. Qood water fioeing, machire \ = valse with & smooth easy ond kifchen ualis.
/f leminates wed. Pale resislance. Machines mouldings and < 1o finish surtace.
* 4 brown/crsam wal fumiture
Beecn 8 “ Fine firich, tough and Childron't toys Fina Lightwaigh!, mosy to | Intarer condruction, Flywood Statlen all dreclionsas | fumiture, shewving, foys,
L o | curavle. Dense close | mosels ana tumiture. v work but can spit. | cheaper furniture ana ditermating loyers. Flesitie inferor and exterior
i . ovoin with an \ decking. vericrs ovalcbie censtruction.
NN b
Manopany Eosly worked, durable ] High and furriture Somsce ¢ Fasy to woek. high | Congtruction. umiture Chipboard Good compxessive Foorng, low end tiichen
and fnishes well. Rich ard joinery. / siffness toweignt and musical v strength, not walerresstant | unity and worklops.
rodgish beown in / ratio. instruments. s s and prore o chipping on
u eages.
Qak Tough. hard ond Flooring. lumiture Redwoad Fesy 1o wort ard Outcoor fumitues. OSB Vi 'ui‘ 'y Rigid and even strength Construction in intaror
durable, high quaty | and ralway sleepers. machines wel, some |  bearms, pests ond | S A" 1| gocdwoter mslsionce. and exterior house
firish pessbie. Light o resstance. decking. I = buiding.
brown with voriable =
gain Block board 1| Stabia, tough and heavy. | Fumiture, deers, shelving

il

Finishes wel. ond indocr construction.

Hordboard

Flexble, even srergthand
sasly damaged by water

fumiture ard phote
frame bocking

A =
E

o,

A Pulley is a grooved wheel,
that has a belt running

E.g. Lifting a dumbbell through it

This uses rotary motion and
is often usad to help with
heavy loads, and transfer
force from @ motor 1o a tol
in machines like drills, etc

cach other (like teeth
on azp)

They mainly focus on
rotary metion on tools
and machinery e.g.
car steering and pillar
drills

unfil they are
to a sawmill,

are used o create
boards/planks.

and the logs are stored

3. When ot the sawmil
machines such as band
saws and circular sows

transported

having on the enviionment:

X -In many places, wood ks being used al o

greater rate which meansitis

ursustainable.

pecple aen'f replanting frees.

suwcsoeco [ENVIRONMENTAL IMPACT

Wood is considered o sustainable resource as new lrees can be grown lo replace
those felied. Here are some issues and positives surounding the impact thot wood is

- To make sure you are buving
suslcinabie timbes, you neeg 1o
make sure it s approved by the
Forest Stewardship Council cr
the Endorsement &
of Forest

Cerfification.

- llegal teling s leading to detoresiation as

- Deforestation helps with global waming.

FSC
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Design and Technology

Maiterials and their Properties: Meials & Alloys

NoN FERROUS

FERROUS

This group of metals all contain iron. 26 This group of mefcls do NOT contain iron.

Most of these metals are mognefic and will rust if Most of these matoks are not mognetic and do not
they arc oxposad to meishure without a protactive e uat.

finish. Iron Thete can Oxdike. Faact with oxygen that causes
fronis what causes the melds torust quicke: 56,045 Ihe surface to chunge colour.

They tand fo have o higher mefting point.

TYPES:

Name Characterisiics Uses

Theyincluds procze metals such as goid, siver and platnum and
others such as kod and mercury which are poisoncus

Materials and their Properties: Polymers (FPlastics)

THERMOFORMING

This group of polymers are able to be formed into a different shape
over and over again. Known as themoplastics.

Thesa are genaraly more Texible, especialy whed heated.

Can be formed info complex shapes. %
TYPES:

These are easier fo recycle.

THERMOSETTING

This group of polymers, once set in shape CANNOT be reformed.

Known as thermosets.

These ore generally more rigid before and after Ihey've Leen hedted.

These are harder to recycle.

Make excellent elechical insulators.

Types:

Name Characterisfics Uses

Name

Characteristics

Uses

Polyathylana Easiv blow moulded Botties. food
tersphihaicte A and fuly recyclable. | pockoging, sheefing

1 and some food
l ‘ wraps

Epoxy rasin

Stranger than other
resirs, expersive and
heat resistant.

Bonding ditferant
materiak together.

ALLoYs

This group of meta’s is a mixture of af least one pwre metal and another element.

Tne reason metaks are alloyed isso that the odded element mckes the medal
botter - it rrorovesitin zamo wey.

Theze ore mor difict fo recyco as the metal hos boan mised with something
else,

Low Caon St2el lough ond ductie, Consyuchon, nois,

Name

Characterktics

Name Characterishics Uses

§ ¥ ran ts
{Mild Steat easlymacnined. |scraws.nutsandbols | [Tom

forred, brazed o Many can bodies.

ja
/ weided.
i ’

i

tignitweicht Hgh

strength 1o waght

ration, ductie and
icull 10 wesd.

Fois and pans, spats
car body panels. bike
frarmos crirks cans,
fcil of Iokeaway Tays

Brass A heavy oloy of anc and
copper that i malleablo,

easy 10 cast and mochine,

Musicdl inshuments,
bushes and plumbing
taoments.

High Carbon Stact Les: cucHlo and

Z neraer than mid steet | 1ools, biades, scssars,
/&, Very hard weoring wood and metal
/ ,y’ and keep: and edge ing took.,

Carden or workshop -
_oppes

N

well.

-

Ductie. moleabie
ond o good electrical
conductor.

Plumbxng sapplies
ond sectical cobles

Harg very smooth but
//\ ditficuit fo weld, A famous

> metal oioyed with
g

Stainies: Stoal Cutiery, kichen and

medcal equipment.

manganess.

Cast ron Hord but brittie. Easly Kitchen pots and

fin = Soft. malectie ond  |Used 1o procuce cans {emperaturas craated bits, mil cutter, faps and
fﬂ ductils, s good | and plofing surfaces in;;: whan mackining at kigh diox
M ! | slecricaiconaucior. | tomate tam sast HE speedt, kaeps cutiing
" 35 adgas wal

chromium, rickel ard
High Spaed Steel Abie fo withsiand the high | Culting foos such os g

castirto complax | pans, mechine bases
shopes but some orer | andt oodies, dan
hard to mochire. cavers and vices. ===
Zoc

SOURCE/ ORIGIN =

Foi electicol
concuctivity,
mallochity ond
Quctiity: however,
better when ofioyed.

Mainiy used 10
golvonze steel fo
peavont ruzfng.

Duraiumn Aoy of auminLm, copper,

magnasum and

Aircratt comporents
soorts cor wheak ond
ranganess. Craates
graater hovdness and

casings

tande sirangth.

Metalk come from the ground rocks hypically the Enrth's crust - this
s known as the sowce o crigin of the material,

IPnore coxe

Ths k how we extract ffemove] metals from he ground aims sons

and ciaata iron ore.

Het 3r boset =

1. The moena is mined using macnines - the man wo
types are tudace mining ond underground mining

Tap Aol for fron |

Blast Furnace

2. Thete rocks are then hansported to o factory 1o be
separated from waste matercl.

3 To crecta the iron ote the
10Cks are ploced Twough Ihe

10 De r
matal

1ha olIr
known

malendl dso Isaves as gases,

tap of the furace and it is
heated.
Asitheats, it starsto became

o lieuid cnd this sinks fo e
botiom.

As it bacomes a liquditis
caned awey from the bottom

efined (Lrthar inlo

The woste matericl leaves in

er giiection and
as the tlag Woste

ENVIRONMENTAL IMPACT

Metal s consicered a finite resource - this means that it wil un out
eventualy a: we enly have ¢ imted amount. Thess are some of the
Impacts that meta na< cn the envikonment:

- Finite iesource so Il willrun out
eveniually

- Couses ait poliufien from the
gases Ihal are rejecsed.

- Con be recycied over and
over ogain. Tha qualty will
atvays be the some as the
onginal so the mateda won't

weaken over fime
- Causes visual pollution fiom the

mines that are created to get the
raw moterial.

- Lasts aleng tre anc so it
won't need to be replaced

A
- Tckes alol of enargy to produce. =Mast el con ba meyclac

PETE
Hich density Lightweight, fip and Milk bottles, pices Meiamine Food safe, hygienic Kitchenware -but it
Polyethylens ’\ chemical proof. hard hats and fomaldehyde and lightweight. can'tbe putin the
2 wheelie birs. microwave
HDPE

Uraa tormaidenyde

Heat resistont and
very good electrical

Elecinicat firings,
casings. buttons and

i'l L’ insulator hondles.
Pelyastor resin Roas ly strong, £ as
- heat resistant and a and fiooring.
good electrical
£ irsulater.
Prenol formaldehyde | Very hard ard brittie. Hectical
An excelent components,

electrical insuiator.

mechanical parts.

BIOPOLYMERS

Newer plasfics are made from vegetable starches and can be
compasted - these are great for the environment. Here ore some:

PLA - Polylactic Acid

when haated.
¥ips.

Non toxic, easty shoped and typicaly used for 30
printers.

drinks containers.

Usea for pers, phone cases, disposcble food and

K - Do no! biodegrade easiy 50

SOURCE/ ORIGIN

Polymers come from crude oil. They can also come from gas and coal.
This can be found beneath the Earth's surface. Below is how we get it
and change it info polymers:

1. The ol is extracted irom beneath the
surface and stored. This can te done on
land orin the sea.

2. This oil is ven transported via o crude
tanker to samewhere called an oll refinery.

-

3, When at the refinery, the oil is
neated and al different
temperatures this crectes the
different products.

» &)
naghtha ﬂ
(pusoline) 04
kercsene _-A—
(parafiin} C‘Eif.,_
o) el I
lubecati >
wp Ibrcatio oy
hoavy fuel
* o ¢ :*—
+ =

ENVIRONMENTAL IMPACT

Polymers are corsidered a finite resource - this mears that it will run out
evenluclly as we only have ¢ limited amouni. However with development
in technology there cre some biodegradable ones, here are some of the
impacts:

ow
temperature -

coude of i heated
and enters the
COUMN 08 A gas

- Some are obie to be recycled
so they don't use row moterial

release harmful toxins in landfilis. (brend new e.g. crude oll).

- Causes air, visual and water - New lechnaiogy has given way

pollution. to fully biodegradable ones -
- Tokes a lot of energy to Rlopotymen. so.they C’e Hoy

toxic and not from a finite
produce.

resource.
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Materials and their Properties: Papers & Boards

BOARD PAPERS SOURCE/ ORIGIN

Design and Technology

The thick of bodids & d i mi . 1000 Paper is measured by weight in grams per square metre Paper and boards come from finely shredded wood but has been
lerons = Trmm; (GSM). This is how heavy if will be. prepared ina special way to make what you know as paper and
boards. This is how they are made:
TYPES: TYPES:
Naome Characteristics Uses Name Characteristics Uses 1. Pulp - this is the finely shredded wood. Logs are debarked into fine
- chips. These are added to a chemical solution and cooked under
Corugated card 1000-5000 microns, Pockaging, boxes Bleed proof paper 70gsm, coated to Marker pens when ;
v ; pressure to make them into o paper pulp. These are calied cellulose
skong ard oncimpoct 1 # h; ‘ﬁ e op mverf, Deen oeﬂgmng ki fibres. Depending on the colour, the fibrous liquid is then bleached or
lightweight. Insidative protection. markers staning. Ink designs. % :
and easty printed on. ‘ “‘ 4 | stays on the surface. coloured.
- Sona chops -~
Duplex board 200-500gsm, sfiff, Cheaper version of Cariridge paper 120-150gsm, Pencil and ink ——h
Bghtweight coatings | white cord used for complefely opaoque | drawings, sketching ﬂs
to improve packaging boxes. and more expensive. and water colour. chldnng drum Chi Chxp pxle
4 functionality. Waxy coating for Logs pper
protection.
Foil lined board 200-400gsm, fiff, foil | Tokeaway containers Grid paper Usually printed onto | Used for graphical, 2. Sizing - this is a process where chemicais or other additives
reflects heat and a and fids, used to 80gsm paper with scientific and are beaten into the fibrous liquid. This stops it being so
water and oil resistant | retain heat for longer. faint lines and often in mathematical absorbent. This means it can then be photocopied, printed or
W coating enables food biue. diograms. painted onto.
ond liquid based C = ~ :
Product i be Papers such as tailet roli or kitchen roll have little sizing so that
contained. Layout poper 0-60gsm, semi Creafing sketches they con absorb moisture. Otherwise they wouldn't work as
\¢ ’ frangucent, takes and working ideas. toilet or kitchen roll.

Materials and their Properties: Texiiles KNITTED FABRICS O | Tresve \ s
"A“ AL FIBRES B“D & HIXED mn i e Wbl o WMl ooa ol = e 3. Converting Pulp fo Paper - the pulp {so the liquid fibrous) goes on
#om 2

s S e ol e Walt - harid or machine ond locgs acracs Tho widih, rr— 10-120gsm, Copying and Facing a mesh conveyor belt to drain the excess water. It goes through lofs
e plant baied and animal o ol ok gkt S % . 5 R 4 i of rollers to squeeze the last of the water out of the paper. Then
basod. with synihebc. Warp - thoze inserock vertically and fes prone fo uneowsling and franshucent, takes imoges. :
TYPES: odderig. pencil and most through drying rollers, so it dries and finally through a set of calender
F 5 o g 2 i . : " 0
abeics from plant Scsed cro rencwablo bt tako along fire. /3 TYPES: & colour weil. rollers which give the paper the finish e.g. satin or matt. Here's a
o grow. N7 Namo Characteristics Uses
: picture of the overal process together:
TYPES: — Name Characteristics uses
. Poly-cotton Maors durabis #on Ganerol clothrg.
Nome Charactaristics Uses - oura cofton but not | sheats and Bedsding. r———— T ———
kL 01 breathabie. Cor | Used a3 alfernatve fo oterant knits have | sporswaar ana s
Coticn (plant) foff.zvong and Mest cicthing and b= produced mors purs cotfon, difterant thapes
o abzorbent, zool to can be used for cheaply srotch and ;haps
weor and exiy derin L] o S - ¢
bl f = reteation Paper is corsidered a sustainable resource which means it is something

o thamol proparties

! that can continue going s it can be replenished [replaced) for
Nool (ankmal - Py e e B e wO". Fm'cs soukc‘/oma" example, you cut down a free, plant 2 new ones or a new one. Here are

sheep) thick, naturdly wam and carpets some of the impacts on the environment:
> and Croose Teskion!. These are fabrics where they follow o paftem - one Fabnc con be tourced from many places o5 you con see friom ha
Con T plece Qoes up and over whils! he over does Ihe fable. However fhay ars mainly animal sources, chemical sources - Susiainoble resource
opposite Weavng ond vegetable sources. Then whern you've go! the souce This § wha!
hoppens: 5 . - C
55 (arimal - silk Very ol ondfine | uxery cloting and TYPES: PP TRl vora orihe i s toniies, Can be recycled over and over again
worm) trlsﬂ.mnfae,;dmm n Ded sheets, Nome Ci p— Uses S — this is once they hove ol been colecied. £ el ' & DeComposes over time if it does go into a land il or if left on
- z wintar and cool i you could have a ple of wool or cotton #ha crovnd
« t und.
bt e e e e - o
\ and sheng, musin and caico #a pradure. srenger | theet: and tedsing 7
o l than ofher wooves. | Used oz alternaive fo 2.Then to tum this infa yam, the row ‘.;,‘4
SYNTHETIC FIBRES | e S
maochine. 1is spun and twisted unfil it
Synthetic fibres are ones that are man-mode. B becomes useable.

Thess can be mods bom recyded posfic boffes {

Types: . NON-WOVEN FABRICS

I Name Characteristics Uses These are fibres that Raven t been spuN IO Yorn - ey have basn 3. 501t Wil 0ok comathing Smiar 10 this onee it NS neen turther
Ep—— Tough shorg, hard Oothing, leace bonded logather thiough hect or adhesive (ghus). processed, such os being dyed. Soms ore furdner processed so
waaring, very garmants, bedshoats, . Ihay become thinner ond smoother
sorslo, helis colows | corpets badkpacks TypEs:

so || = _Te== T = ENVIRONMENTAL IMPACT
absorhant

[? X [ ch Here aie some of 1Ne pocs al Mmoanufaciuning texties has on the
Potyarmids (Nylon) | Geed sirength, hard | Ciothing, rope: and Roedad fabdc fnckshengih o, | DEphichle pradicl 2 ;
: ginzeconbe cutin| wehos pratectyva envircement:
SN otz bigrsici any dirsction and not cloting
ausorcent, machine | parocrutes and pesy B X T Amost i fexiiles ara racycicble
wishet wal, sporte rmatenal. processng stages 1o make sure that biodearadatie.
P febile Canbe fomod with. | Hats, soundproofing Trey aie cean and Leoble - Most sources of lextles ae
= = fure G heart - ins .
Ceatane {Lyer) Addediclobirc 1o | Sportswes, osise wciskiizs ol oo ardimuation cansdered sushainable a3 thay

enhance warking | Cathing. swimsuits o elasticity whenil 218 0. IR IR0. Y 0%
:_rc;:ene e | o » ;‘ AoV nas diied. Fu opert release CO2 info the envisonment
5 10 v e g,

z cousing
Sretéh: Freadtom of easly ausing aie pallution. s s 2
" n be reuse o 6
mavesmat Throw aoway cutture due o feshion pd e i

are avaliable such as the cotor
plant ¢ and theep’s woo!




Drama

Component 2: Developing

y Skills and Techniques in the Performing Arts

In this component, you will develop your preforming arts skills and techniques through the reproduction of acting repertoire as performers.

Learning Outcomes

Key Vocabulary

Learning Outcome A - 12 Marks

Blocking

Deciding where an actor should stand during a scene.

To use the rehearsal process

You will participate in skills workshops that will teach techniques that are needed to explore
and perform short extracts of a play.

Characterisation

Creating a character through your movement and dynamic
choices.

Hot Seating

An in-depth questioning of a character.

Evidence Needed: Video recordings of rehearsals, annotated materials Levels The height you perform a movement —low, medium or high.
Learning Outcome B - 24 Marks Multi-role An actor plays multiple characters.
To apply skills and techniques in performance Naturali A style of performance where actors and designers try to create
aturalism o ) . i
You will perform 5-15 minute extracts of a script and perform to an audience. the illusion that what is happening on stage is ‘reality’.
Evidence Needed: Video recordings of the performance A A style of theatre where the actor uses their body as the primary
Phy5|ca| Theatre tool for performance
Learning Outcome C - 24 Marks
. — Proxemics Distance between characters to show a relationship.
To review development and application of performance
A tice of the pl iththeaimto i >
You will review your rehearsal and development process, and performance outcomes. Rehearsal ki s M SEML 0 MIProve
Evidence Needed: Written Review Thought Tracking Internal thoughts of a character spoken aloud to the audience
Use of Voice Adapting your voice to suit a character requirement.

Tasks

Task One

Preparing for a performance

You will prepare for a performance, whilst developing and applying your skills and techniques, including: interpretive skills, performance skills, characteristic of the style/genre, communication of
meaning, intention and links to theme, personal review and reflection of skills and progress and response to feedback.

Task Two Performance to an audience

It’s time to showcase your performance or production designs for an audience. You will need to demonstrate: technical skills, performance skills appropriate to the material, application of

stylistic and interpretative skills and communication of your creative intentions.

Task Three

Reviewing development and performance

Review your development and application of skills and techniques during your rehearsal process and during your final performance. The review of your rehearsal/production process should
include commentary on your preparation and use of targets to develop your skills and techniques relevant for the selected extract of existing professional repertoire. The review of your final

performance should include commentary on your application of skills and techniques

27



English

KNOWLEDGE ORGANISER: JEKYLL AND HYDE

PLOT SUMMARY VOCABULARY BANK CHARACTERS
| | ” 1
| Chapter 1: | Utterson Is taking his Sunday walk with friend Enfield. In a well-kept street they stumble upon a Duality Dr Heary | Doctor with an interest in the supernatural. Respected man but with a2 mysterious past which Uttersoa hints at. Pro-
ES!ory of the X i derelict doorway, which prompts Enfield to tell 2 story linked to the doorway. Late at night he had | Jekyll | tagonist of the novella. We only hear about him through his reputation, and then later from tanyon as “wrong In the
\' {seen a man run into and trample a small girl. A crowd gathered who demanded £100 from him as Regressed ‘ mind”. The reader does not know he’s the same man as Hyde until Chapter 8. We only really hear from J when he
| compensation to the girls' family. The man went into the battered doorway and produced a — - | telis his own story at the end.
| cheque signed by a respectable man (whom Enfield does not name ). Enfield tells Utterson there | Evolution o — L - .
| was something very disturbing about the man who trampled the girl. He gives his name as Hyde. |— | MrEdward | Jekyll's alter{go Hvde Is the evil aspect of Jekyll mannfeﬁed in a separated identity. Also responsthle for the main
P e e P S L €7 S Z VY Y AN P, L Yo e R Hyde !evemsln the narrative —the trampling of a girl, murder of Carew, death of Lanyon and destruction of Hyde. A
|Chapter 2: Search | U reads over his friend Jekyll’s will. It says If he dies or disappears all his possessions will go to | 5
| | range, repugnant man who looks faintly pre-human. He's violent and cruel, and everyone who sees him describes
| for Mr Hyde | Hyde. Disturbed, Utterson visits Dr Lanyon, who says he no longer speaks to Jekyll. After troubled z
| | Reputation im as ugly and deformed—yet no one can say exactly why.
| dreams, U decides to meet Hyde for himself. He finds him repelient. He goes to Jekyll's house but ——— A7 B —— -
| Jekyll isn’t in. The servant Poole reveals the staff has instructions to obey Hyde. ‘vvtctoﬂanvéemieman | Mr Gabriel \Weikrespected Iawyer Like Lanyon, he represenls v-ctonan soclety’s devotion to rational explanations and denial of
;ChIMEI 3: Dr Jekyll | Uitterson goes to 2 dinner party at Jekyll's house. He stays behind to talk to Jekyll, He asks about Utterson he supernatural. Petr:aps sng)'\xry lacking in Imagination, meaning he is unable to see the connection between J/H
|was quite atease | Mr Hyde. Jekyll refuses to talk about Hyde, but tells Utterson he can be *rid of him whenever he | Isolation ; and puts it down to 3 ‘rational’ explanation—blackmail. As a reader we fallow him as a guide and we too are led to
|
| chooses”. He asks Utterson ta insist 1o obey the instructions in the will- U agrees. ) i {the wrang conclusion about the relationship between J&H. |
| Chapter 4: | A year later. The murder of Danvers Carew is told through the story of a maid who witnessed it. Depraved Dr Lanyon { Respected London doctor and one of Jekyll’s closest friends until their disagreement. Represents rationality, reason,
j'The Chrssu Martiee ! Half a broken cane and a letter to Utterson were found near the body. Utterson and Newcomen and sclence. His character serves as a contrast to Jekyll's mysticism in the novella. His death symbolises the supernat-
| { ’
[ase | (the pofice officer) search Hyde’s rooms. They find burned papers, the other part of the cane and Degeneraie ral ‘winning” over science/reason—terrifying for Victorian readers!
| |2 burned cheque book. At the bank they find Hyde has several thmf'ld pounds. Deba:ed | Mir Entield 1 Reserved, formal, no interest kngosslp B “Victorian gentl ’ - values reputation highly.
i:ﬂ’”'u & | Utterson goes to see Jekyll and fins him pale with shock and lliness in his “cabinet’ (room above — Poole ‘Jetyll’s butler. A working class charactes; socially Inferior to other characters due to his role. Knows § very well— |
| Incident of the | the laboratory). Jekyll says he's heard people outside shouting about the murder of Carew. I tells | Savage ‘ including the sound of his footsteps ~ which is cruclal In the decision to break down the door at the end. Discreet
} | § £ i |
[fetter t‘UhewllI have no more to do with Hyde and is © Hyde will ppear. I shows U a letter S - bout I's business until his fears lead him to act.
| .‘ signed Edward Hyde that was hand delivered. it thanks J for his generosity and says he can escape | Subconscious — T - — 4
| safely. U is relleved. U takes the letter and shows it to his head clerk Mr Guest. Guest is a hand- . A Inspector | DeJighled with the Carew case as it will be good for his career if he can solve it—Carew (s 3 high profile victim. Could
{ | writing expert. A servant comes in with a note from Jekyll. Guest notices the handwriting Is simi- | Revulsed/revulsion Newcomen | '”‘m'“ sightly chaotic police force newly formed in Victorlan e
! | far. Utterson now thinks Jekyll forged the leters from Hyde, writing it himself. _  lsirpanvers High -profile murder victim and friend of Utterson's. Described asan elegant and sophnsncated old man of hlgh social
1 Chapter 6: | Hyde has disappeared. For two months Jekyll returns to his old self and Is friendly and soclable. j Resrralntjrestrameu Carew | standmg A perfect ‘victim® as he is such a contrast to the depraved Hyde. ‘
| Remarkable | suddenly refuses to see Utterson again which alarms Utterson. U then visits Lanyon and finds him &appTess:or;suppressed | Mr Guest Handwnﬁﬂg expert that potices the similarity between Jekyll and| Hyde's handwriting. Drives the narrative forward
|incident of Dr Lan- | very physically changed and disturbed. L refuses to talk about J, saying he views him as dead. U I \as the handwriting deepens the mystery. Again, like Utterson, we are on the wrong track thinking 1 s forging letters
;VOG | puzzied and writes to J, asking why he won't see his friends. J's reply is mysterious. Lanyon dies é;;"c = ‘for H_
| two weeks later. U gets letter from Lanyon, not to be opened unless ) disappears. U tries to visit § 57 — oy 1
_| Female w Mald watches the murder ol Carew and faints. Story told from her perspective embemshes some of the de(ails—lo
| but Is turned away. Poole tells him J spends most of his nme in the lab. 1
r enslion characters | add tension and intrigue. Gothic ‘damsel in distress” figure.
| Chapter 7' Inddem Dn another Sunday walk with Enfield, U tells E he once saw Hyde and felt revulsion. £ reveals he |
| — ~ | ’ = ’ .
| at the window ; has since found out that the doorway Is the rear entrance to §'s labaratary. The pair come to the | Mystery | Hyde’s landlady—Gives information about Hyde's comings and goings. Seems pleased he is in trouble.
| courtyard near the door and step In. they see 1 sitting at an upstairs window and call to him. They B < AM QUESTION EXAMELES
i Inwite him to walk with them and he refuses. A look of horror passes across f's face and he disap- | Allusion
| 2 Starting with this extract, how does Stevenson present Hyde as a frightening outsider?
‘ | pears. Appalled by the look they saw In I's face, E and U walk away. s 08 .
| - Morality Starting with this extract, how does Stevenson create mystery and tension In the novedla?
| Chapter B: The Last | Poole visits U as he fears something is wrong with J. At I's fab, a voice refuses to let them in. P
Night | says he fears | was murdered 8 days previously as he heard him cry out. He worries the murderer Vice -| Starting with this extract, explore how Stevenson presents secrecy and the unknown in the novella
| !s still Inside- U and P arm themselves and break in. They find the body of Hyde, In clothes too big _|starring with this extract, how does Stevenson present Utterson as a refiable and rational narrator?
| for him, twitching on the floor. They can’t find J. They find an envelope addressed to Utterson. It Rational/rationality 9
| contains a new will (in Utterson’s favour) a note telling U to read the letter he has form Lanyon Marting with this extract, how does Stevenson use seftings 1o create tension In the novel?
|@nd a long letters from J. They lock the cabinet with Hyde’s body inside and U goeshome to read | contrast Starting with this extract, how far do you agree Stevenson creates Dr Jekyl as a character we can feel sympathy for?
| mg documents.
s S = EXAM TIPS AND PHR
| Chapter 9: | The contents oi Lanyon's letter tells nf now he recelved a letter fromJ asklng hlm 1o coilect chema- Atavism/atavistic
|
o | cals, a vial and a notebook form I's 1ab and give it 2 man who would arrive at midnight. A gro- | Keep your answer really relevant to the question asked.
narrative | tesque man arvives and drinks the potion which turns him into Jekyfl, causing Lanyon to fall il Mysticism Start with a thesls—answer the question and link to Stevenson’s intentions/context if relevant
Chapter 10: Henry | Jekyli tells the story of how he turned into Hyde. It began as a scleatific experiment into the duali- | Unorthodox Annotate the extract. Look closely at language you can pull apart. Look for wider themes/techniques that span the novel.
Jekyll’s full state- |ty of human nature and an attempt to rid himself of his ‘darker side’. Eventually he became ad- _| Either answer on extract first, wider novel second OR alternative between the two.
ment of the case | dicted to being Hyde, who took over and destroyed him. Uncanny

Use the writer’s name. Remember characters are not real- they are constructs made by the writer,
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English

THEMES Y QUOTATIONS

[
| Duality | Plot hinges on the idea of the duality of human nature. Stevenson suggests we have two parts to us: a part that is concerned with
| physical appetites and pleasures and 2 higher part concernad with Intellectual pleasures and moral behaviours. There s a tension
| between these two parts of the soul; between Instincts and how soclety conditions us to behave. Other types of duality in the nov-
|l include good vs evil, schence vs the supernatural and appearances vs reallty.
|Good vs Evil | Evil Is personified in Hyde in the novel. He is entirely selfish, indulging in his own appetites without regard for others. Good s
{shown in the novel as being generous and kind. Jekyll is 3 “good” religious man and a “good” frend when not under the influence
| of Hyde. Hyde is frequently contrasted with the people he does ewl to, who are presentad as very Innocent and good: the Inno-
| cent young glrl and Carew who Is described in a similar innocent way
1
| Friendship ‘There are a few key fnendsh.ps In tne r.uvella Jeky" and Lanvon Jekyn and unerson Unerson and Enﬁe&d Fnendsmp and Io,'alzy
; and loyalty | act as spurs to action in the novella: Utterson’s friendship with Jekyll leads him to investigate Hyde. Poole seeks the help of Utter-
ison as he’s Jekyll's friend. Jekyll turns to Lanyon when he needs chemicals. Friendships are sometimes shown to be marred by se-
| crets. Reputation seems to play a part In some of the friendships In the novella, although there are dearly genulne feehngs too.
iAppearam:es | Few thmg, are asthey appear. J s respeaable yet he has hls secret inner (dentity. Hyde appearsto be a normal ‘person’ (|fa bx!
| vs reality/ | ugly) but he's actually a product of a potion. It appears Jekyll Is being blackmalled, yet he isn't. Lanyon’s iliness looks to be physi-
;secrets jcal, however It is the effects of seeing Hyde's transformation. As readers we are also taken in by what appears to be real but
| turns out not to be
| Sclence | Two forms of sclence are shown: Lanyon's type of sdence ks rational. JekyH is more mystical/spiritual. This comes across in lan-

| guage each character uses: Lanyon's is very factual and clear.. Jekyll’s is more abstract and metaphorical - normal language of
| sclence can't describe his other-worldly experiences.

ER'S INTENTIONS

{Duality and the | Social conventions were so strict in Victorlan times that the criminal underworld developed —an d appe e of dig-

;karhn nity was valued more than g h y. Utterson rep the perfect Victorian gentleman. He consistently seeks to

' Gentleman | preserve order and decorum, does not gossip, and guards his friends’ reputations as though they were his own. There was

‘ | same hypocrisy around the idea of the Victorian gentleman, as many of these men iIndulged thelr vices In poor areas 50 a5
not to be seen.

deence and Darwin gave the world his Theory of Evolution which suggested that perhaps we did not come from God, but evolved from

} Darwinism | apes. People were shocked at the thought that we might have something in common with these primate beasts. Scientific

| developments were rapid at this time, including in medicine. We knew more about anatomy than ever before. There was a
| | growing conflict between religion and science. New beliefs such as phrenology led people to have unusual beliefs about

| Pathetic fallacy

*Sinister block of buildings thrust forward
Its gable._blind forehead of discoloured
wall*

*_.[Hyde] must have secrets of his own;
biack secrets, secrets compared to which

“Like a madman”
"Like a rat”

“Like Satan”

“the flog slept on the wing above the
drawned city”

"1 tooked upon that ugly idol in the glass,
and was conscious of no repugnance, ra-
ther a leap of welcome”

“The rosy man had become pale, his flesh
had fallen away"

R'S METHODS

poor Jekyll’s worst would be like sunshine®

“like a district of some city In a nightmare®

| “Lincline to Cain's heresy. | let my brother
3 g0 to the devil In his own way"

| "1 have seen devilish fittle of the man..,
| unsclentific baiderdash”

"he began to go wrong, wrang in the mind®

[ "ape-like fury"
“seems hardly human. Something troglo-
| dvnc?"
"radiance of a !oul soul lranspues mrough"

| "_ you who have demed the virtue of tran-

[
| scendental medicine, you who have derid-

| ed your superiors — behold!"

“the moment | choose, | can be rid of Mr
| Hyde"

| "expression of such abject terror and des-
pair”

“God forgive us!"

"*shopfronts...Hke rows of smiling sales-

women”

| *Jekyll’s main house: at the ““front” with an

| *atr of weaith”
| Jekyll's laboratory: at the “back™ with a
| “blistered and distained door”
| *fiend”
"If | ever read Satan's signature on a face, it
| 5 on that of your new friend!”

| '| have been doomed to such a shipwreck:
| that man Is not truly one, but truly two™

| *1 am the chief of sinners. | am the chief of
| sufferers too”

| *something of a skyish cast perhaps, but

| every mark of kindness"”

| "1 have had a shock and shall never recov-

|er

| used extensively to create a dark and mysterious mood and to create tenslon. London is often shrouded In fog

| which represents the central mystery in the novella—the characters cannot see clearly.

Conuamng Imagery Lemcal helds related to hell/dewl used to describe Hyde in conxrast to Jekyli s good charac:ensncs

Characterisation

M\at faclal 'eatures/hbad shapes mngm mean about your pefsonahtv and character.

|Suppressing vlctonans were refiglous and so feared what went on ‘behind dosed doors This mcluded sexual deslres and temptamms
lity (Ilega| at the time} was oﬁen linked to blatlunal as people sought xo suppress theif pﬂvate deskes

| He
| Divided society Stevenson grew up In Edinburgh and some think the dty of London in J&H is actually based on Edinburgh. 8oth Edinburgh
and London were divided cities—made up of areas of extreme wealth side by side with areas of extreme poverty. The co- |

exnstenr.e of these two verv different worids Interested Stevenson.
1Landun A dirty, smoggy, dark and dangerous city at the time of writing. Sometimes covered in a brown fog from the factories of the
‘ Industrial Revolution. Riddied with crime which went largely unsolved by a relatively new and Ineffective police force.
| Industrial | The bullding of factorles drove mass migration of people from country to dty to find work. Housing was crowded and low
|
| Revolution | quality and It was a time of rapid social change. This led to fears of depravity and crime; Londoners were concerned about

| the pace of change. There was also a fear of new technology and its implications for mankind.

STYLE

iGoth ficion-—this genre started In the 18th century and gained popularity in the 19th century. Features indude pathetic fallacy, isolated

Setting and symbol-

ism

gs, extremes of emotion eg, terror, passion. Usually Includes terrifying, violent and

I.anyon s language is very factual. whereas )ekyll‘s language s more metzphonal and poetic when he nan'ates
| his story at the end. This language difference shows the two differing ideas of science (L vs ) ‘

| The house Is a key symbol of the duality in Victorian sodety. Jekyll's house is symbol of man's respectable pub-
lic face. Hyde's entrance and the laboratory represent the darker, hidden side of man. Consider windows as
‘ another symbol—the lack of windows/high windows indicating secrecy,

Maost of J&H s told by a third person narrator, but from the point of vew of Utterson (third person limited).

| This means we find out the story as itis led to U keeping us waiting to find out the big reveal’. We
do hear about certain events through other characters eg. The mald's description of the Carew murder. The
two final chapters are told In first person—Chapter 9 is from Lanyon's perspective and Chapter 10 though Jek-

yiFs. Coasider why this might be.

Lanyon’s narrative contains letters—this is a key trope of Gothic fiction, along with multiple narratives and
fetters, documents etc.

P | events. S Gothic storles used

| different narratives to tell the story eg. Spoken accounts, diaries and other documents. This helps keep some parts of the narrative hidden and create more mystery. Gothic settings are dark and mysterious—just like London In this novella. Gothic novels were popular as they allowed

| Victorian readers to feel and experience terror In a safe, controfled way.

| Detective novel—Made popular by Sherlock Holmes stories in 19th century, some elements are borrowed by Stevenson. Usually starts with a crime, which is solved during the course of the novella. It also includes a trail of false and true leads/clues. In J and H we know who com-
| mitted the crime, but what we don’t know Is the connection between J and H. This is the central ‘mystery’ of the novella. The big ‘reveal’ isn’t until Chapter 9—much like in detective fiction where the murderer Is revealed at the end. Think about how Stevenson leads the reader

| down false lines of enquiry and leaves us a series of mysterious clues—like Utterson, we are in the dark and need 1o try to solve the mystery!
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Geography

Key term: Definition: = e AN .
Geology Rock type SRR < oo e

ALY o =t ,
Relief Height above sea level = LaTE & i

e hesosoa "
Concordant Coastline with one rock type R

_ IGNEODUS IIUL'Kub‘ 65
Discordant Coastline with more than one rock type P\
Glaciation Ice sheets dominating the landscape
Weathering The wearing away of material due to the climate
Erosion The wearing away of material due to force
Deposition The creation of landforms due to the movement of material
Processes: Explanation: Example:
Geology There are three main rock types; igneous, metamorphic & The UK is shaped by all three main rock types; the main rock type in the UK is
sedimentary. a sedimentary rock e.g. most of Essex is shaped by “London Clay.”

Glaciation The UK was once dominated by glaciers which shaped the The Lake District in Cumbria and Snowdonia in Wales are examples of

landscape over time. This has led to the formation of distinctive
landscapes across the UK.

Glaciated valleys and are dominated by distinctive landforms e.g. U Shaped
Valley.

Coastal landforms

The power of the sea has shaped the UK coastline over time. They
have created distinctive landscapes due to the variety of geological
profiles.

The UK coastline has a number of landforms of coastal erosion e.g. Bays &
Headlands as well as landforms of coastal deposition such as beaches and
sand spits e.g. Sandbanks in Dorset

Sub aerial processes

The climate will affect the wearing away of material in upland areas;
this will create steep slopes. Movement will make its way to the
earth’s surface due to gravity in a process known as mass
movement.

Sub aerial processes help shape upland areas (e.g. formation of a Corrie) as
well as lowland areas (coastal erosion of boulder clay cliffs)

Engineering

The Government & the Environment Agency are in charge of
preventing damage from both coastal erosion and river flooding.

Millions of pounds are spent annually to avoid river or coastal flooding e.g. sea
walls or the Thames Flood Barrier in East London.
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Key term: Definition:
Drainage basin An area of land drained by a river and its tributaries
Source Origin of the river O A . % 7
Discharge The amount of water in the river channel at any one point ‘
Meander Abend in the river . L8 LS " A
; | O : © over 00000
Confluence The point at which the main and tributary river meet gy
» other main city
River estuary Widening and deepening of the river in the lower course
Mass movement The movement of material to the earth’s surface due to gravity
transportation The transportation of material in the water
Processes: Explanation: Example:
Drainage Every maijor river forms part of a drainage | The UK is shaped by a number of major
basin basin. A drainage basin is an area of land | rivers. The upper course of rivers is
drained by a river and its tributaries. The | characterised by landforms of fluvial erosion
characteristics of the river change from e.g. V Shaped Valley.

source to mouth.

Geography

Fluvial Weathering, mass movement and vertical |V Shaped valleys can be found in National
erosion erosion combine to alter the upland areas | Parks such as the Brecon Beacons. The
of the UK. They will lead to the formation | tallest waterfall in the UK is High Force
of a V Shaped Valley or Waterfall. Waterfall on the River Tees
Transportatio | Eroded materials find their way into the Large stones roll along the river bed; this is
n river bed; this can increase vertical known as traction. Smaller stones bounce

erosion through the process of abrasion. | along the river bed in a process known as
The river transports its load from upper to | saltation. Finer material is suspended in the

lower course. water- this is known as suspension.
Fluvial The middle and lower course of the river | Meanders, ox bow lakes and levees are
deposition is characterised by lateral erosion and examples of fluvial deposition; examples

deposition; the gentle gradient aids this can be found in the lower course of the

change. River Severn.




Health and Social Care Knowledge Organiser: Component 2 Health and Social Care Services and Values

Learning Aim A: Understand the different types of health and social care services |Learning Aim B: Demonstrate care values and review own practice
and barriers to accessing them

Providing good health and social care services is very important and a set of ‘care values’ exist to ensure this happens. Care values are important because they
enable people who use health and social care services to get the care they need and to be protected from different sorts of harm.

Health and Social Care

Al Health and social care services Bl Care values
1. Different health care services and how they meet service user needs 1. Empowering and promoting independence by involving individuals, where
a. Primary care, e.g. dental care. optometry, community health care possible, in making choices
b. Secondary & tertiary care. e.g. specialist medical care 2. Respect for the individual by respecting service users’ need, beliefs and
c. Allied health professionals. e.g. physiotherapy, occupational therapy. speech and identity
language therapy. dieticians 3. Maintaining confidentiality
2. Different social care services and how they meet service user needs 4. Preserving the dignity of individuals to help them maintain privacy and
a. Services for children and young people. e.g. foster care. residential care, youth work self-respect
b. Services for adults or children with specific needs (learning disabilities. sensory 5. Effective communication that displays empathy and warmth
impairments, long-term health issues) e.g. residential care. respite care. domiciliary 6. Safeguarding and duty of care
care 7. Promoting
c. Services for older adults e.g. residential care. domiciliary care anti-discriminatory
d. Role of informal social care provided by relatives. friends and neighbours practice by being aware of
types of unfair
discrimination and avoiding
discriminatory behavnoud # ’
A2 Barriers to accessing services B2 Reviewing own application of care values
1. Types of barriers and how they can be overcome by the service providers and users 1, Key aspects of a review
a. Physical barriers, e.g. issues getting info and around the facilities a. Identifying own strengths and areas for improvement
b. Sensory barriers, e.g. hearing and visual difficulties -
: . ; e 4 against the care values
c. Social, cultural and psychological barriers, e.g. lack of awareness. differing cultural 52 .
Lol socil it Fi P lode oS b. Receiving feedback from teacher or service user about
A gma, p
d. Language barriers. e.g. differing first language. language impairments own performance
e. Geographical barriers. e.g. distance of provider. poor transport links ¢. Responding to feedback and identifying ways to improve
f. Intellectual barriers, e.g. learning difficulties own performance
g. Resource barriers for service provider, e.g. staff shortages, lack of local funding. high
local demand s

h. Einancial barriers. e.g. charging for services, cost of transport. loss of income while
accessing services

s Tl o 1r N




History

Paper 1: Medicine in
Britain

Medicine in Britain:
¢1250-presemt.

Medieval England

1250-1500

Causes of ilinesses

Prevention and Treatment

Individuals

Religious: Belief that God caused ilinesses.

Supernatural: Astrology also used to help diagnose
illnesses.

Rational: Four Humours
Theory: Body made of
four liquids {blood,
phlegm, black and
yellow bile). Imbalance
of these humours can
cause illness and disease.
Hippocrates

Miasma: Belief that bad air was harmful and cause
illnesses.

Supernatural treatments: Praying, fasting +
Pilgrimages.

Rational treatments: Bloodletting, leeches +
purging.

Herbal remedies also used to treat the sick. Medieval
people also encouraged to take care of their bodies —
exercise, sleeping and keeping clean.

Physician: Diagnosed illnesses and suggested
treatments. Studied patients’ blood and urine.
Apothecary: Mixed herbal remedies.

Barber Surgeon: Performed simple surgery.
Hospitals: Owned and run by the Church.

Home: Majority of sick cared for at home (women).

Hippocrates: Four Humours Theory.

+ = Observed patients/recorded symptoms +
Hippocratic Oath.

- = |deas on causes of disease were wrong.

Galen: Theory of Opposites.
+ = Wrote over 350 books on medicine. vl
- = Made mistakes — Jaw bone made of 1 £

bone not 2.
-~ ~“~

Case Study: Black Death (1348)

Causes: Sent by God as punishment, bad air that
corrupted the body’s four humours.

Treatment: Prayer, charms, bleeding and purging,
sniffing strong herbs, and fires lit to remove bad air.
Prevention: Pray to God, Flagellants + streets cleaned.

Key Words

Key Words

Key Words

Diagnosis: |dentify illness based on symptoms.
Miasma: Bad air that believed to cause diseases.
Physician: Qualified person to practice medicine.
Rational: Idea based on logic.

Supernatural: Ideas not explained by
science/nature.

Bloodletting: Drawing blood from the sick.

Herbal Remedy: Medicine made from plants/herbs.
Pilgrimage: Journey to sacred place.

Purging: Removing humours from the body.
Purifying the air: Removing foul smells from the air.
Regimen sanitatis: Instructions to help treat the sick.

Bubonic Plague: Disease spread by bacteria (sneezing).
Flagellants: People who whipped
themselves to ask for God’s
forgiveness to avoid plague.
Quarantine: Separating sick to
stop spread of disease.

Renaissance
England

1500-1700

Causes of illnesses

Prevention and Treatment

Individuals

Continuities: Miasma Theory, influence of Church
during epidemics and that supernatural beliefs.

Changes: Most accepted that illnesses were not
sent by God, decline of importance regarding the
Four Humours Theory and analysis of urine.

There was a move away from old ideas about the
causes of illness but they had not been replaced!

Continuities: Bloodletting, herbal

remedies, removal of bad air, use of

apothecaries + surgeons for the poor and !
role of women caring for the sick who @
could not go to hospitals.

Changes: People looked for chemical cures for
diseases, Renaissance hospitals began to treat people
with wounds and infectious diseases and Pest Houses.

Thomas Sydenham: ‘English Hippocrates’.

+ = Placed importance on observing 2 patient.

- = Doctors/physicians still reliant on Galen’s work.
Vesalius: ‘On the Fabric of the Human Body’'. .

+ = Corrected 300 mistakes by Galen on anatomy.

- = Caused controversy by challenging Galen’s work.
William Harvey: Circulation of the blood.

+ = Proved that arteries and vein were linked together.
- = Considered to be mad as challenged Galen’s work.

Key Words

Key Words

Case Study: Great Plague (1665)

Epidemic: Disease that spreads
quickly.

Printing Press: Machine for
printing text/pictures.
Renaissance: Revival of ideas
from 1500-1700.

Royal Society: Set up in 1660 to discuss new ideas
in medicine and science. Sponsored scientists.

Pomander: Ball containing
perfumed substances.
Transference: Belief that an
illness can be transferred to
something else.

Pest House: Hospitals that
specialised in one disease.

Causes: Unusual alignment of the plants, sent by God
as punishment, imbalance of Four Humours + Miasma.
Treatment: Prayer, quarantine, fasting, smoking
tobacco to ward off miasma + Plague Doctors.
Prevention: Local governments tried the following:
banning public meetings, closing theatres, sweeping
the streets, burring barrels of tar and sweet smelling
herbs to ward off miasma, killing cats and dogs.
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History

Industrial Britain

1700-1900

Causes of illnesses

Prevention and Treatment

Individuals

Continuities: Miasma Theory, influence of Church
during epidemics and that supernatural beliefs.

Changes: Germ Theory
(1861) disproved
Spontaneous Generation
Theory and believed that
germs cause disease in
human body.
Pasteur/Koch.

Hospital Care: c18 Hospitals were dirty, overcrowded
and in poor conditions. Nightingale.

Surgery: c18 surgery was dangerous, problem of pain,
infection and bleeding. Simpson/Lister.

Vaccinations: c18 Smallpox massive killer. Jenner.
Cholera: Epidemics in 1831, 1848-9 and 1854. Snow.
Public Health Act - 1848: Not compulsory + no change.
Great Stink-1858: Introductions of sewers. Bazalgette.
Public Health Act: 1875: Compullsory and forced
authorities to provide clean drinking water, build
public toilets and dispose of sewage to avoid pollution.

Key Words

Key Words

Englightenment: Focus
on change than
continuity.

Germ Theory: Theory
that Germs cause disease.
Microbes: Living
organism that can only be
seen under @ microscope.
Spontaneous Generation
Theory: Belief that microbes are released when
things decay, rather than being the cause and that
they are spread by miasama.

Anaesthetic: Used to make somecne unconcious.
Antiseptic surgery: Killing bacteria before operations.
Aseptic surgery: Operation that takes place in a
strictly controlled germ-free environment.
Inoculation: Deliberately infecting a patient with a
disease in order to become immune to it.
Vaccination: Injection of weakneed organisms to give
body resistance against disease.

Great Stink: Exposed sewage on the River Thomas
created awful smell near Houses of Parliament.
Laissez-Faire: Government’s attitude that it should not
interfere with matters relating to Public Health.

Louis Pasteur: Germ Theory (1861).

+ = Identified that germs cause disease and illnesses.
- = Unable to identify specific germs.

Robert Koch: Microbes (1867).

+ = Discovered microbes cause specific illnesses.

- =Took time for his work to be widely accepted.
Florence Nightingale: ‘Notes on Nursing” (18589).

+ = Improved conditions in hospitals.

- = Had to fight hard in order to change attitudes.
James Simpson: Chioroform as an anaesthetic (1847).
+ = Provided safer alternative to Laughing Gas + Ether.
- = Difficultly in gauging correct dose to be used.
Joseph Lister: Carbolic Acid as an antiseptic (1865).

+ = Antiseptic surgery — killing germs from wounds.

- = Opposed because of poor knowledge Germ Theory.
Edward Jenner: Vaccination.

+ = Discovered vaccination for Smallpox (1796).

- =Vaccination not compulsory until 1852 by state.
John Snow: Discovered cause of Cholera (1848).

+ = Concluded it caused by dirty drinking water.

- = Government unwilling to pay for improvements.
Joseph Bazalgette: Introduced Sewer system (1865).
+ = Built over 1300 sewers in London.

- = Size of project took time until completed in 1875.

Modern Britain

1900-present

Causes of illnesses

Prevention and Treatment

Individuals

By 1900, scientists realised not all diseases were
caused by microbes. Discovery of DNA (1953) meant
scientists understood how hereditary diseases were
caused. E.g. Down’s Syndrone. Crick and Watson.
Lifestyle choices impact on health: smoking, poor
diet, alcohol, sharing of bodily fluids and exposure
to excessive amounts of sun.

Improvements in diagnosis: X-ray, CT/MRI! scans,
ultrasound, Blood testing and pressure monitor.

Magic Bullets: Salvarson 606. Paul Ehrlich.
Antibiotics: Pencillin discovered in 1928. Alex Fleming.
Mass produced for D-Day in 1944. Florey and Chain.
High-tech medical/surgical treatement: Dialysis,
Prosthetic limbs, Keyhole surgery, ECG, Endoscope.
Changes in care/treatment: NHS: Hospitals, GP’s,
dentists, ambulance services + health visitors.
Government lifestyle campaigns: Changedlife +
campaigns warning of dangers of drug/binge drinking.

Key Words

Key Words

DNA: Carries genetic information about a living
organism.

Genome: Each human being has a unique DNA.
Human Genome Project: Scientists worked to
decode and map out the human genome.
Hereditary diseases: Diseases that are passed down
from one generation to another.

Antibiotic: Medicine that destroys the growth of
bacteria inside the body.

D-Day: Allied forces in WW2 invade northern France.
Magic Bullet: Chemical that kills specific bacteria in
the body.

General Practitioner: Community-based doctor who
treats minor illnesses.

Crick and Watson: Discovered DNA (13853).
+ = Scientists explore causes of hereditary diseases.
- = Doctors still unable to treat genetic conditions.
Paul Ehrlich: Created first Magic Bullet (1809).
+ = Discovered Salvarson 606 to treat Syphilis.
- = Magic Bullet can only treat one specific disease.
Alexander Fleming: Discovered Penicillin (1928).
+ = Noticed ‘white mould’ killed bacteria - Penicillin.
- = Unable to fund further research + went no further.
Florey and Chain: Mass produced Penicillin (1944).
+ = Developed Penicillin and mass produced it.
- = Reliance of USA for funding.

Fight against Lung Cancer:
Diagnosis: Difficult to diagnose early on.
Treatment: Transplants, radio/chemotherapy.
Prevention: Smoking banned in public places, raising
age of buying cigarettes and stop smoking campaigns.




History

Paper 1:
Section A

The British
Sector of the
Western
Front,
1914 —1918.

Context of the British sector of the Western Front

Conditions requiring treatment on the Western Front

The Ypres Salient: Germans had the
advantage with being on the higher

ground. Tunnelling and mines were

used by the British at Hill 60.

First Battle of Ypres - 1914.

Second Battle of Ypres -1915.

Third Battle of Ypres - 1917.

The Somme: Battle of the Somme -
July-November 1517.

1% day of battle, 60,000 casualties and
20,000 died.

In total, 400,000 Allied casualties and
this put pressure on medical services
on the Western Front.

Arras: Battle of Arras - 1917.

Before the battle, Allied soldiers dug
tunnels below Arras.

Tunnels led to rooms and included an
underground hospital.

Cambrai: Battle of Cambrai-1917. 450
tanks used to advance on the German
position, however, plan did not work
because there was not enough infantry
to support.

Impact of terrain on helping the wounded: Difficult to move around, + night,
communication was difficult, collecting wounded from No Man's Land was
dangerous. Stretcher bearers found it difficult to move around corners and
transport of the wounded was difficult because of this.

1l health: Trench fever: caused by body lice and included flu-like symptoms including high
temperature. Treatment: Passing electric current through infected area was effective.
Prevention: Clothes disinfected and delousing stations were set up. Affected 0.5 million.
Trench foot: caused by soldiers standing in mud/waterlogged trenches. Treatment:
soldiers advised to keep clean but worst cases, amputation. Prevention: Changing socks +
keeping feet dry and rubbing whale oil into feet. Affected 20,000 in winter of 1914-1915.
Shell-shock: caused by stressful conditions of war and symptoms included tiredness,
nightmares, headaches and uncontrollable shacking. Treatment: Not well understoed.
Prevention: rest and some received treatment in UK. Affected 80,000 and some were shot!
Weapons of war: Rifles: fired one at a time/loaded from cartridge case creating rapid fire.
Machine guns: Fired 500 rounds a minute. Pierced organs and fracture bones.

Artillery: Bombardments were continuous, Artillery fire caused half of all causalities.
Shrapnel: Caused maximum damage exploded mid-air above enemy. Killed/injured.
Chlorine Gas: Led to death by suffocation. 1915, gas masks given to all British soldiers.
Phosgene Gas: Faster acting than Chlorine but with similar effects. Could kill within 2 days.
Mustard Gas: Odourless gas, worked in 12 hours. Caused blisters, burn the skin easily.

Key words

No Man’s Land: Land between Allied and German trenches in WW1.
Trenches: Long, narrow ditches dug during the First World War.
Ypres Salient: Area around Ypres where many batties took place in WW1.

Helping the wounded on the Western Front

Key words
The impact of the Western Front on Medicine

Evacuation route: Survival depended on speed of treatment. Care improved as
war progressed. 1914 — 0 motor ambulances but by 1915, it was 250. Ambulance
trains were introduced, as well as, ambulance barges used along River Somme.
Stretcher bearers: Collect wounded, 16 in each battalion + 4 for each stretcher.
Regimental Aid Post: Always close to the front line and staffed by a Medical
officer selected those who were lightly wounded/needed more attention.

Field Ambulance and Dressing Station: Emergency treatment for wounded.
Casualty Clearing Station: Large, well equipped station, 10 miles from trenches.
Base Hospitals: X-ray, operating theatre and areas to deal with gas poisoning.
Underground hospital at Arras: Running water, 700 beds and operating theatre.
RAMC: Involved medical officers and learnt about wounds never seen before.
FANY: Volunteer nurses, who helped the wounded and also drove ambulances.

Gangrene: When a body decomposes due to a loss of bloody supply.
Shrapnel: A hollow shell filled with steel balls or lead, with gunpowder and a

time fuse.

The Thomas Splint: Stopped joints moving and increased survival rates from 20 to 82%.
Reduced infection from compound fractures.

X-rays: Developed in 1895, X-rays used to diagnose issues before operations. But there
were some problems: X-ray could not detect all problems, were fragile and overheat.
Mobile X-rays: 6 operated on the front line, used to locate shrapnel and bullet wounds.
Transported around in a truck and enabled soldiers to be treated more quickly.

Blood Transfusions: Blood loss = major problem. Blood transfusions used at Base Hospitals
by a syringe and tube to transfer blood from patient to donor. Extended to CCS from 1917.
Blood bank at Cambrai: Adding Sodium Citrate allowed blood to be stored for longer.
Blood was stored in glass bottles at a blood bank and used to treat wounded soldiers.
Brain surgery: Magnets used to remove metal fragments from the brain. Local anaesthetic.
Plastic surgery: Harold Gillies developed new techniques, skin drafts developed for grafts.

Key words

Key words

FANY: First Aid Nursing Yeomanry. Founded in 1907 by a soldier

who hoped they would be a nursing cavairy to help the wounded )

in battle. @
RAMC: Royal Army Medical Corps. This organisation organised

and provided medica! care. It consisted of all ranks from doctors WA\;E':

to ambulance drivers and stretcher bearers.

Triage: A system of splitting the wounded into groups according
to who needed the most urgent attention.

Compound Fracture: Broken bones pierces the skin + increases risk of infection in wound.
Debridement: Cutting away of dead and infected tissue from around the wound.

Gas Gangrene: Infection that produced gas in gangrenous wounds.

Mobile X-ray unit: Portable X-ray unit that could be moved around the Western Front.
Radiology department: Hospital department where X-rays are carried out.

Blood transfusions: Blood taken from a healthy person and given to another person.
General anaesthetic: Putting a patient to sleep during an operation.

Local anaesthetic: Area being operated on is numbed to prevent pain + patient awake.
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AC2.1.1 Nutrition: Describe functions of nutrients in the human body. Water makes up just over 2/3 of the human body 2
and is required for:
* Maintain body tfemperature

The Eatwell Guide is the UK Healthy Eating Model. It shows what we should eat as a balanced diet. The size of the sections s M_embo"se_» fat
represents the proportion of our diet that particular food group should make up. The Eatwell Guide was updated in 2016 fo Take * Aid digestion

inta account scientific opinion and public opinion. The main change was that sugary and fatty foods are shown of f the plate as they  + Lubricate organs
are not p(lf'T of a healthy diet. . Transpor‘r nutrients

+ Flushes out waste and toxins

ﬁ The Eatwell Starchy Foods Water Intake Wafer‘ l‘iCh fOOdS
Guide i : -

+ Provide slow release carbohydrate used by the body A balanced diet must include water

for energy it is required for nearly all brain A ' ‘

Fruits & Vegetables + Choose whole grains for increased fibre (good .~ and other bodily functions. ja -
* Eat > porT:or}s a day! 40% i Oils & Spreads 96% water 90% water
+ Choose a variety a0 Provide fat
+ Provides fibre for healthy digestion s R s e s o e g m
;, - itamins A,D ;

+ Provides vitamins and minerals for - " : :re hllgh e S

healthy body functions and immune &

energy so keep use

system % a i 94% water 92% water
Fatty and Sugary Foods It is recommended

+ These are the danger foods!

+ They are not part of a healthy diet
+ Eat them only occasionally

to choose -
unsaturated oils like /

olive oil.

« Eating too much fatty and sugary , 95% water 95% water
processed food is linked to increased
risk of weight gain/obesity, diabetes;” .
,Thoh decay and,_c' iovascular ' ‘
8 a Beans, Pulses, Eggs, Meat, Fish Dairy Foods 89% water 89% water
Ps: Zentae i = . Pro_vide protein for growth, repair and . Provide:'oalcil-xm for healthy bones, s =
2. Eat more fruits and Vegetables e o @ TeETR s Healthy diets not only have the correct balance
3. Eat ily fish + Choose inati . 2 g 4 4 f
4 Ez,f ;:Z:es:;*y " ocro?::: f_‘;’:g:&mwn :Z"Zgg‘d:fr;ﬁ:”m" B 1o absorb , buT have the right portion sizes. Here is a ‘handy’
5. Eat less fat ,p pr : : guide ..
6. ' Eat less sugr + Avoid eating too much processed meat like 4 ﬁ Fibre in YOUR HAND IS YOUR PORTIONING TOOL
7. Choose wholegrains bacon and sausages as these are linked with the diet
8. Drink 6-8 glasses of water per day incrensed risk af hawel and stamach

Soluble fibre dissolves in water
and the insoluble kind doesn't.
Soluble fibre helps reduce blood
cholesterol and sugar.

dlea i

Lqu,‘(,:(t- A serving of A saning of cams t«--ugl!h,
- 1 palir wogstables = 1 fist = 1 cupgert hand 1
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AC2.1.1 Nutrition: Describe functions of nutrients in the human body.

A vitamin that can dissolve in water. Vitamins are nutrients that the body needs in small amounts to stay healthy and work the way it should.
Water-soluble vitamins are carried to the body's fissues but are not stored in the body.

Water Soluble Vitamins

Water Soluble

MI
CR
ON
ut
RIE
NT

it Needed For Found In Deficiency/Excess
Vitamin
+ helping to protect cells and keeping them « citrus fruit, such as oranges and orange juice Deficiency - Scurvy, very rare symptoms include bleeding gums, wounds not healing properly, tiredness.
heaithy peppers Lack of vitamin C effects obsorption of iron.
- maintaining healthy skin, blood vessels, + strawberries
Cc bones and cartiloge « blackcurrants Excess
Antioxidant - helping with wound healing - broccoli Taking lorge omounts (more than 1.000 mg per day) of vitamin C can cause

Adults cged 19 to 64

brussels sprouts

« stomach pain

need 40mg of vitamin C potatoes - diarrhoea
per day. » Flatulence
' Vitamin C is water soluble so excess can easily be excrefed by the body.
B1 « helps the body breck down and release peas - Beri-beri {disorder of the nervous system).
Thiamin energy from food some fresh fruits (such as bananas and oranges) Excess - body excrefes it.
Adults oged 19 o 64 « keep the nervous system healthy nuts
need: Whole grain breads
1mg men some fortified breakfast cereals
0.8mg women liver
B2 - keep skin, eyes and the nervous system milk Deficiency - Dry cracked skin around the mouth and nose.
Riboflavi healthy s Excess - body excretes it.
.l D - release energy fortified breakfast cereals
Adults cgedd_19 to 64 from food mushrooms
; Sn\ee + plain yoghurt
omg men UV light can destroy riboflavin, so these foods should be kept out

-Img women

of

direct sunlight.

B3 - release energy meat Deficiency - disease pellagra. Symptoms can include dermatitis, dementio and diarrhea.
Niacin from food fish Excess - body excretes it
Adults cged 19 to 64 -+ keep the nervous system and skin healthy - wheat flour
need: =1 @ggs
16.5mg men : .
13.2mg women Niocin cennot be stored in the body. so you need it in your diet
every day.
- form healthy red blocd cells « braccoli Deficiency - can lead to folate deficiency onoemia. Symptoms can include insemnic, depression and forgetfulness.

B9
Folate
Adults aged 19 to 64
need:
200mcg
In pregnoncy: 400meg

reduce the risk of birth defects called
neural tube defects. such as spino bifida, in
unborn babies

Brussels sprouts

leafy green vegetables, such os cobbage. kale, spring greens
and spinach

peas

- chickpeos and kidney beans

liver (but avoid this during pregnancy)

- breckfast cereals fortified with folic acid

Excess - Toking doses of folic acid higher than img can mask the symptoms of vitamin BI2 deficiency, which con
eventuclly domage the nervous system if it's not spofted and freated. This is particularly o concern for older people
because it becomes more difficult to absorb vitamin B12 aos you get older.

B12
Cobalamin
Adults aged 19 to
64 need:
1.5meg

+ make red blood cells and keeping the

nervous system healthy
release energy from food
use folate

meat
fish

milk

« cheese
) eggs
- some fortified breokfast cereals

Deficiency - If you eat meat, fish or dairy foods, you should be able to get enough vitemin B12 from your diet. Vitamin
B12 is not found naturally in foods such as fruit, vegetables and grains, vegans may not get enough of it.
Excess - body excretes it
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AC2.1.1 Nutrition: Describe functions of nutrients in the human body. £

- . A vitamin that can dissolve in fats and oils. Vitamins are nutrients that the Deficienc
Fat 5°|Ub 'e Vitamins body needs in small amounts to stay healthy and work the way it should. Y

Fat-soluble vitamins are absorbed along with fats in the diet and are stored I ABsot

ﬁ Click here in the body's fatty tissue and in the liver.

for video

Fat Soluble

Vitamin Needed For

Key Wonds s |

A shortage of a substance (such as a vitamin or
mineral) needed by The body.

Nutrients are taken into the body and (absorbed)
and transported by the bloodstream to other parts
of the body for use or storage.

Deficiency/Excess

helping your body's natural defence ogainst illness and infection - cheese

(the immune system) work properly -« eggs

nelping vision in dim light - oily fish

keeping skin and the lining of some parts of the body, such as - fortified low-fot spreads

the nose, healthy - milk ond yoghurt

- liver ond liver products such as liver paté

A
Adults cged 19 to 64
need
(per doy)-
700 meg men

ED0ag wosen Liver is a particularly rich source of vitamin A, so you may be at risk of having

too much vitamin A if you have it more than once o week (pregnant women
should
cvoid eating liver or liver products).

You can clso get vitamin A by including good sources of - yellow, red and green (leafy) vegetables, such as spinach, carrots, sweet
beta-carotene in your diet, os the body can convert this inteo potatoes and red peppers
retinol. yellow fruit, such as mango, popoya and apricots

Betao-Carotene

Deficiency - Night blindness. Xerophthalmia the eyes may become very
dry and crusted. which may damage the cornea and retina. Freguent skin
irritations.

Excezsz

Having more than an average of 1.5 mg (1,500 ug) o day of vitamin A over
many years may af fect your bones, making them more likely to fracture
when you're older.

This is particularly important for older people, especially women, who
are already at increased risk of osteoporosis, a condition that weakens
bones.

keep bones. teeth and muscles healthy. oily fish - such as salmon, sardines, herring and mackerel
D red meot
Adults cged 19 to 64 liver
need: egg yolks
10 meg per day fortified foods - such as some fat spreads and breakfast cereals

- A lack of vitamin D can lead to bone deformities such as rickets in
children, and bone pain coused by a condition called osteomalocia in adults.

Excess - Toking too vitomin D over a long period of time can couse teo much calcium
to build up in the body {(hypercalcaemia). This can weaken the bones and demage the
kidneys end the heart.

E helps maintain healthy skin and eyes and strengthen the body's plent oils - such as rapeseed (vegetable oil). sunflower, soyo, corn and olive
Adults aged 19 to 64 natural defence against illness and infection (the immune oil
need: system). nuts ond seeds
4mg men wheatgerm - found in cereals and cereal product

3mg women

- Any vitamin € your body does not need immediately is stored for
future use, so you do not need
it in your diet every doy.
Excess - N/A

K a group of vitamins that the body needs for blood clotting, green leafy vegetables - such as broccoli and spinach

helping wounds to heal. vegetable cils
cereal grains
small emounts can be found in meat and dairy foods.

Adults oged 19 to 64
need:
1 microgram per kg of
body weight.

Deficiency - Toking 1mg or less of vitamin K supplements a day is unlikely to cause
any harm.

Excess - Rare, however vitamin ¥ can interact with several comman medications,
including blood-thinners, anticonvuisants, antibiotics, cholesterol-lowering drugs,
and weight-loss drugs.
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AC2.1.1 Nutrition: Describe functions of nutrients in the human body.
Function of Nutrients in the Body

Nutrient

Types

Function

Effects too little (deficiency)

Effect of too much (excess)

MACR
ONU

TRIE
NTS

Carbohydrates

4 keal per gram

Click here
for video

Starches (complex)* found in cereal grains such as
rice, wheet, cats, plus starchy fubers (potaices and
sweet potctoes) and vegetables (carrots, beets,
cerr). Digest slowly, long lasting energy.

Sugars (simple): lectose fourd in milk and aairy,
fructose found in horey, fruits and

some vegetcbies (peppers, fomatoes).

Digest ard enter the bloodstream E
quickly for a burst of energy.

Carbehydrate is the body's main source of energy (fuel).
Carbohydrate brecks down o glucose, which is the only form of
energy the brain recognises. Basically, without carbohydrete, your
brein wouldr't funciion!

All cerbohydrates, ro metter what Type, provide 4kcal of energy
per gram. The difference is complex carbs toke longer to breck
dowrn and therefore satisfy hurger for longer, whereas simpie
sugers feave you feeling empty and wanting more. Cam‘plex carbs
provide dietery buk ard fibre which mekes us feel fuller for
langer.

Dietary fibre* compiex carbohydnate found in the cell well of
fruits, vegetables and cereals. Aids with removal of waste from
the bogy.

Deficiency of carbohydrates is extremely rare in the UK as we
have good access To carbohydrate rich foods.

Long ferm lack of carbohydnates in the diet can cause ketosis - ¢
cordition where the body switches to using profein as en
energy source.

Visible symptoms*
Lack of energy and weight loss.

Non-visible symptoms*
Not enough fibre from whole grains foods leads to constipation and
ather intestinal/bowel problems.

If not used for energy, excess carbohydrates are
converted 1o g'ycegen and stored in the
muscles cra liver.

Visible symptoms*
Weight gain cnd obesity.

Non-visible*

Eating too much non-refinea (white) carbohydrates

leads to tooth decay, raised blood suger fevels and

increcsed risk of developing fype 2 dicbetes. (See
ic: ind ides 7-8)

Proteins
4 keal per gram

Click here
for video

-

v ) W

High Biological Value (HBV) protein® Meat, fish,
pouliry, dairy

Tooas (mitk), eggs. soya.

Corntain all the essential amino acids the b
cenno? make itself. ‘

Low Biological Value (LBV) protein*
Quarn, Tofu, peas, beans, lentils, ruts, seeds and
cerecls.

Missing one or more of the essential aming
acids. Mainly come from plant sources.

Two or more LBV proteirs con be combined to make
a complete prefein. This is celled protein
complementation.

Exemple: beans on toest.

Protein is digested by the bady into its component parts - ccllea
amino acids. There are & which are essential for cdults
ard 10 for children.

Protein is essential for the growth, maintenance and repair of
baody tissue.

Protein is par® of every fiving cell ard some tissues like skin,
muscle, hair and the care of bones end teeth!

k 2 {
@

AN

Visible symptoms*

+ Wasting of muscle & muscie Joss

+ Qedema - build up of fiuids ir the body
+ Slow growth in children

Severe deficiency leads fo kweshiorkor (blocting of The stomach).

Non-visible symptoms*
‘Wecker immune system, as it reeds protein

to function properly. This can fead to prolerged recovery from
illness or geiting
ill more frequently.

Visible symptoms*
Excess stored as fat, which can lecd To weight gain
ard obesity.

Nen-visible symptoms*

Increased protein consumption lecds fo
hyperfilfration - ¢ state in which the kidney faces
increcsed pressure i order fo filfer and remove
waste from the boay. Over the lorng term,
hyperfiltration may ‘ead to kidney damage.

e

. Fats
9 keal'per gram

“x0 =

Click here
for video

Monounsaturated Fat*
Avocado, many ruts and seeds,
olive cil, aimand oil, sunfiower ail.

Polyunsaturated Fat*
Vegetcble oil, corn ail,
saffiower oil, nuts, aily fish.

Saturated Far*
Mainly from crimal sources.
Mect, butter, cream, eggs.

LyeodeNf !v
% .
ol

« Protection of infernal orgars
+ Thermoregulation (temperature confrol)
» Irsuletion of nerve cells {conduct electrical messages)
+ Uptake of fat seluble vitamins (A, B, E & K)
+ Growth, development and repeir of body tissues
+ Inwomen, storage ard madification of
+ reproductive hormones {oestragen)

Omega 3, 6 and 9 Farty Acids E
Qily fish, seeds and oils, flax

seeds, pumpkin seeds, walnuts,

soyc beans, dark green vegetables, vegetable oils,
margerines (polyunsaturated).

» Forms avifal part of cell membranes
+ Supporis mental health

+ Improves heart heclth

+ Supports health weight management
+ Shown %o reduce inflammation

+ Supports infant brain development

+ Promotes brain heaith

Visible symptoms*
'Weight lass over time as the body uses stores of faf. Person
feels cold as fat under skin acts as insulator.

Non-visible symptoms*

Bruisirg of the bores as they are not protected. Lack of fat in the
diet cen leed to deficiencies of fat soiuble vitamins A, D, E & K Fai
deficiency can clsa lead to impaired in fertility in women due to
anovulation.

*Aravulefion - h:aﬁens wheri an egg (avum) doesr't release from
the ovary during the merstrual cycle. Anegg is reeded to have
a pf'zgrur,cy.

Common issue in the UK:

Over corsuming foods high in fat can raise the
blood cholesterol levels (fat in the bload).
Cholesterol is o fatty substance that is needed for
the bedy fo function properly, however there are
two fypes, LDL {(bad) and HDL (goed). LDL
chalesteral comes from satureted fats, such as
mect and cheese

Eating too much seturated fot can lead fo abesity
crd higher ‘bad chalesteral levels as well as an
increcsed risk of developing Type 2 gicbetes cra
heart disecse.

Ursaturated plant sources of fats are much
healthier for us.
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Quantitative data

i Quantitative data

A

Continuous Discrete
e.q, temperature e.q. shoe size

v
|

Ordinal
l e.q. position In a race

Related data

Qualitative data

Qualitative data are measures of types.
Variables can be sorted into categories and
are called categorical data. Categorical
data is always qualitative. For example,

raw data collected on where people went
on holiday last year could be classed by
continent: Europe, Asia, North America,
South America, Africa, Australia and
Antarctica.

Bivariate data involves pairs of related data values, such as exam results and time spent
on study. Multivariate data involves sets of three or more related data valves, such as

age, height and weight.

Primary data

Primary data is information that you collect
yourself,

You could do an experiment, carry out a survey
or use a questionnaire to collect primary data.

Secondary data

Secondary data comes from published sources,
such as newspapers, books or the internet.

You could take information from a table in a
magazine to collect secondary data.
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Populations

Technical words and phrases
You need to know these definitions:

A population is everything or everybody
that could possibly be involved in an
investigation, e.q. students in a school, all
the people who vse the local gym.

A census gathers data from the whole
population.

A sample gathers data from some of the
population.

A representative sample should contain
all the characteristics of the population to
avoid bias. A sample that is too small may
not represent the population and may bias
the results.

The sampling units are the people or items
that are to be sampled.

A sampling frame is a list of all the
members of the population from which the
sample will be taken.

A pilot survey i2 a small sample analysed
first before any large-scale samples.

A pre-test is a pilot where questions for a
questionnaire are vsually tried out.

Census vs sample s
Here is a population. /f?'l\ f P

A census would gather l (

"9\ ﬁ"
information from everyone.

I

All the members of the i e
population can be numbered \/5{ /
to form a sampling frame.

A representative sample is shown in red.
A census collects more information than

a sample but takes a lot longer and is a
lot more expensive.

Gocd and poor samples

are as !arge as | are too small
possible

are are biased — they unfairly
representative | favour one set of values

sampling frame | (e.g. out of date, people
missing, people counted

' shouldn’t be there)

have a suvitable | have a poor sampling frame |

twice, names on a list that |
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A random sample is one in which every member of the population has an equal chance of
being selected. A random sample is fair or unbiased and, if it is large enough, it is more

likely to be representative of the population.
Methods for random sampling

Give each item in your sampling frame a unique number. To select the numbers for the items

in your sample, you can:
* use a random number table
* use a random number generator on a computer or calculator

* put the numbers of the items on pieces of paper and select at random from a hat
* roll sets of fair 10-sided dice to generate digits from O to 9.

Non-random sampling

You need to know about these methods of non-random sampling.

Judgement sampling uses judgement to select a sample that is representative of
the population.

Opportunity sampling uses the people (or objects) that are available at the time.

Cluster sampling can be vsed when the population is in groups. A random sample
of these groups is selected and all items in the selected groups are included in
the sample.

Quota sampling involves splitting the population into groups with certain
characteristics (e.q. age, gender) and selecting a given number from each group.
For example, a market researcher might ask 10 adults and 10 children about their
reaction to the 2018 GCSE results.

In systematic sampling, items are selected from the population at reqular intervals
either in time or in space. For example, every 5th car that passes a location or
every 3rd house on a street. 42



Maths

Stratified sampling can be used when the population can be split into distinct groups. The
advantage over simple random sampling is that you can be certain that all the groups are
represented in the sample. This may not be true for simple random sampling.

Petersen capture-recapture formula

You can use the Petersen capture-recapture formula to estimate population size for large
populations. The diagrams below show how this method works on a population of fish.

Using the formula
You can use this formula to estimate the

ation size, N:
:of@ orm=M [LEARN IT'

M = number of ﬁsh marked then released

n = size of recapture sample

m = number of marked fish in recapture
sample

\

t

Assumptions

Learn the underlying assumptions.
The population is closed ~
no migration.

O All members of the population
are equally likely to be
captured in each sample.

O Capture and marking do
not affect catchability and
markings are not lost.

O The population does not
change due to deaths or
births between sampling
occasions.

/] The sample is large enough
to be representative of the
population.

Strata

A stratum is a group in the population. In a
stratified sample, the relative sizes of the
groups in the sample are the same as their
relative sizes in the whole population.

There are twice as many boys as girls in

Girls é\ % %
* A% k%ég
Reviry

So you need twice as many boys as girls in
the stratified sample (shown in red).
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A questionnaire is a set of questions designed to collect primary data.

The person who completes the questionnaire is called the respondent.
Questionnaires are given to people to complete anonymously, either printed or online.
Interviews are usually carried out in person or by telephone.

* Much cheaper to do

treated in the same way

* Each person answering the question is

e Can be inflexible
* People may misunderstand
some questions

responses

* Interviewer can explain complex questions
* Interviewer can follow vp on unclear

* Interviewer may be biased
* Can be costly

Colden rules

Remember these rules for designing

questionnaires:

@ Make questions clear and closed.

@ Avoid open questions.

(/') Don't ask leading questions.
Have response boxes which are
unambiguous.

@ Have response boxes which cover all
possible replies and don't overlap.

Types of questions

Avoid open questions which allow a wide
variety of responses.

e.g9. "What do you think about programmes on TV?'
Use closed questions to restrict the
replies given.

2.q. 'Are you over 18 years old?’

Avoid leading or biased questions which
might lead the respondent towards the
answer that you want or expect.

Pilot surveys

Pilot surveys are used to test questions
in a questionnaire, to make sure that
respondents understand the questions
and can answer in ways that will collect all
the data needed and give valid results,
Pilot surveys are usvally carried out on a
proportion of the total sample population.

When asked to criticise a question

©n a questionnaire, ask these

questions:

* Is there a time frame?

* Do the response boxes overlap?

* Do the response boxes cover
all possible responses? L

e ————— -
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Designing investigations

There are constraints which must be considered when designing an investigation to test

a hypothesis.
Considerations

* Time and cost to set up and carry out
investigation.

* Ethical issues You must respect people’s
dignity and rights.

* Confidentiality It is important to keep
data secure and confidential.

* Convenience of getting data locally. .

* ldentifying the population and method
to collect sample data.

* Planning to gain more responses than you
think you need, in case of non-response.

* Doing a pilot survey to help work out
likely responses to sensitive questions.

* Planning what to do with anomalous
results. (Read page 5 for a reminder
about anomalous results.)

| —

Planning for non-response
* Decide on the number of responses you
need to do a valid analysis of data.

* Do a pilot survey to work out the
proportion of surveys which are likely to
be returned.

* Use this proportion to work out how
many surveys to send.

Calculating the number of
surveys
For a survey, 300 responses are needed.

In the pilot survey, 50 questionnaires are

sent out. 40 responses are received.

The proportion of responses received
40 _4

|- R i

50 5
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Completing a two-way table o et B L

This two-way table shows the numbers of

male and female musicians in each section of 23 =

+ 17 = 40

17

an orchestra, 34 e 42
To complete a two-way table look for rows 57 / 25 82
or columns with only one missing value. 7

42 — 34 = 8 so '& must go in female wind and brass,

Bar charts and vertical line graphs are a good way of representing discrete data given in

a tally chart or frequency table.
They can also be used to represent qualitative data. You met these types of

The table shows information about the types
of trees in a wood.

data on page 1.
The bar chart

Types of trees in a wood-—— should have

a title.

aver §10 : In a bar chart the
B A el yiutatna Boe 4 Y 81— T 1 height (or length) of
Oak 6 | :O: el | the bars represents
Ash 8 ' - the frequency.
Pi A g 41 | The bars should
2 meh ; \ 5 21 all be the same
eEC . width and Il
O{Oak Ash Pine Beech >0 W
The bar chart shows how this information can Type of tree ST
be d;whyed. The vertical axis should start be labelled. You
from O and go up by equal can label the vertical
amounts each division. axis ‘Frequency’,
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The bars must be in the same order for each quarter,

Multiple bar charts Car sales

This multiple bar chart shows the sales of three 201

makes of cars in four quarters of one year. é‘ 15 1

There are four sets of three bars to show how H 10 4

sales change over the year. E .

Using this bar chart it is easy to see that sales o

of Seat cars were high in the first two quarters 1at quarter 2nd quarter 3rd quarter 4th quarter
but then fell, [Honda [@MFord [ Seat

M SN N BN NS BEE SR R TR G R B AR MR R R e S TR AT I BB BEDY BED BENY S RS BN N AEN BN AN AEe BN M e W

Composite bar charts

This composite bar chart shows how the percentages of men g
and women seen jogqing have changed over two years. > 2010
The percentage of women has increased from 25% to 40%.

Composite bar charts can be harder to understand than multiple ~ © 20 40 60 80 100

. ai o Percentage
bar charts but do show the proportions within each group better. (Key HRIM I Women|
Kﬂy en

2012

Interpreting pie charts Most important subject

The fraction of
students who
said ‘English’ is
150

360

This pie chart gives information about the replies
that students gave to the question ‘What is your
most important subject?’

The pie chart shows that ‘English’ got the most 1’;‘3;:‘?;":;'

votes and ‘Maths’ got one quarter of the votes. .4 'science’ is

45
Using a formula 360

You can use this formula to work out what each sector represents:

angle of sector \
Number represented = < X total ‘ LEARN ITL

360

47



Maths

Stem and leaf diagrams

The ordered display of individual discrete data

The column with O, 1,

The rows contain

values in a stem and leaf diagram shows the 2 and 3 is the stem. the leaves.
distribution of the data. mEkoee 96 B 7=
The diagram shows the numbers of emails thek:"’t';‘s 1l2 2 4 ¢
. ma e

15 people received one day. sy >lo 2 3 4 7 7
The key is necessary to interpret the diagram. theutsare 3 | 4 3 5
The leaves must always be single digits. the leaves,

geds Key 3 | 5 represents 35 emails
Back-to-back stem and leaf diagrams

Test 1 Test 2

Back-to-back stem and leaf diagrams show two sets e 3 11517 92 9
of data with the same stem. The smallest values on each
row are next to the stem. 4 2|63 &
This diagram shows the marks of a group of students & 2 941 2
in two tests. e 818|7 7 9
In a back-to-back stem and leaf diagram, the keys can Key: 6 |5 =56 5|7 =57

be combined.

NG| 5|7 represents 56 marks on the
left and 57 marks on the right.
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Median

The median is the middle value when
the data is written in order of size.

In a frequency table the data is
already in order.

Make an extra column headed
Cumulative frequency.

Fill in the column by starting with 5.
The median is found by using the rule
Median = ath th data value

where n is the total frequency.

Mean of discrete data

from a frequency table

Do
Use the formula: Mean = ——
2of
Add another column to the right of
the table for f X x.
The table here gives information about

European shoe sizes of 20 people.
The mean = 598 + 20 = 29.9

Add a cumulative

Cumulative | frequency
column,

- | Write down the

0 S i first frequency.
1 16 21 \

2 12 33 .S +16 = 21
3 10 43 = goes here.

4 7 50 | The final number
5 | 3 5 3.\f. in this column

53 +1
The median is the

should equal the

th valve, total frequency.

The 27th value is 2, so median is 2.

28, 30, 32
and 34 are
the x-values.

These two columns

are the original table.

oe size Frequency b ——
28 8 8 X 28 = 224

30 7 7 X 30 = 210

T 32 3 3 %32 =96

0 | e 3 2 X 34 =68
L 20, 598 |

-
This is 3, fx.

This is 3. f (the sum
of the frequencies).

Mode

The mode is the value with the highest
frequency (the value that appears most
often). Be careful — the mode is the data
value and not the frequency.
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Modal class and class
containing the median

The modal class is the interval which has_

The modal class is O < T = 5 because it

has the highest frequency.

ey | Cumulative

the highest frequency. — ‘ | Sy
The table gives information about the 5<T<10 8
lengths of time some trains were late. e
The class that contains the median is et L
found by using cumulative frequency. 15|<T=20 &
20/< T=

The median is the = > 1th data valuve in the OixT=25 2 S

2 ntl _43+1_ ., The lowest 20 times go
table where n is the total of the frequencies. 2 2 up to here, The 21st and

Mean of continuous data from a frequency table
The table gives information about the times some students spent on homework.

The midpoint of each interval is oy Midpoint fX x

found by adding the end points : ()

Fo—s; 0 < T<10 12 5 12 X5 =60

The midpoint of the interval 10 < T =< 20 8 15 8 X 15 = 120
20 + 30 =

20<T=30lex=—7—— 20 < T= 30 3 25 [3X25=75

=25 30 < T=< 40 2 35 |2x35=70

Because you are using the 25 325

midpoint of each interval, you are

working out an estimate for the This is 3 ,f (the sum of the frequencies). This is 3 fx.

mean. You would need to know ‘h

the time taken by every student Using the formula, ¥ = =325 + 25 = 13

to find the exact valve. Sif

The 22nd data value lies in
the interval 10 < T= 15

22nd times are in the
next interval,
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Transforming data

Calculating with transformed
values

You can sometimes calculate the mean more
easily if the data is transformed first.

This is a list of door heights:
2.05 2.02 2.14 2.01 2.20 2.09

To find the mean, these numbers can be
transformed.

First subtract 2 from each valve:
0.05 0.02 0.14 0.01 0.20 0.09
Then multiply by 100:

o 2 14 1 20 o

Mean of transformed numbers
5+2+14+1+20+9 51

6 g el
Now reverse what you did to the numbers:
* divide by 100
* add 2.
Mean of original numbers = ?O_g + 2 = 2.085

— — e s — S e S N N MmO GES S

Worked example ﬂ

(a) Find the mean, median and mode for this
list of prices. (3)

£45 £28 £36 £57 £28

Mean =(45 + 28 + 36 + 57 + 28) + 5
= £38.80

iV Gl OB 2B 45 57
Median = £36
Mode = £28

(b) The prices are increased by 20%,
Find the new mean, median and mode for
this data. (2)

New mean = £38.80 X 1.2 = £46.56
New median = £36 X 1.2 = £43.20
New mode = £28 X 1.2 = £33.60 ‘

To increase a value by 20% use the
multiplier 1.2 to find 120%,

. Em S e Ses SN SN DN M SIS G S S G R
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Population pyramids

Population pyramids are similar to bar charts or stem and leaf diagrams.
They give information about the age structure of a population.
The bar charts are presented horizontally with male and female populations on opposite sides.

The diagram shows an estimation of the
population (in thousands) in Edinburgh in
mid-2016.

In the 21-40 age group there were just under
90000 males and just over 90000 females.

The vertical scale always has the

—s0-20 |
T —»
/10060 60 40 20 0O 20 40 60 80100

youngest ages at the bottom.

The scales on both sides

must be the same.

A

a1-100 HHEHHHT
61-80 | | '
%41.@0 HHHH

21-40 |

Males FPemales

Population (thousands)
Source: Office for National Statistics,

Choropleth maps

A choropleth map uses different colours
or shading to show how data varies across
different geographic areas. This choropleth
map shows the distribution in the UK of the
surname ‘'Davies’.

You need to be able to interpret and
compare choropleth maps.

There must be a

key to interpret
the shading.

The distribution of the
; surname Davies in
the UK

Normally, higher
concentrations are

darker on the diagram.
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Comparative pie charts

Comparative pie charts are vsed to compare the
numbers in populations of different sizes.

These two pie charts show preferred sources for
news for men and women.

The pie chart for women is larger than the pie
chart for men because the total number of women
sampled is greater. '

area of large pie chart _ total number of women
area of small pie chart total number of men

So, use = -R—z = — where ris the radivs of the {
small circle, R is awe radivs of the large circle,
n is the total number in the small sample and l

Total number =n  Total number =N N i the total number in the large sample.

Weighted mean

A weighted mean is one where each data
valve is multiplied by a number (the weight)

based on importance. L 2 2 5
The weighted mean X is given by the formula 19 & 7 4

3 4 6 8
o awx
X= _Z—W Jim's weighted mean

. I1X104+2X8+2X7+5X4

where W is the weight given to each variable, x. = T+ 2+2%+5 =6
For example, in an interview for a job, people Anne’s weighted mean
havetodcfourtaskS:A,B,CandD. _‘x3+2x4+2x6+5x8_63
The weights given to the tasks are 1, 2, 2 and 5, 1+2+2+5 —

meaning that task D is the most important and
task A the least. 53
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Histograms and frequency
peolygons

You use a histogram to represent grouped continuous data. There are no gaps between
the bars on a histogram (unless one of the intervals has a zero frequency).

A frequency polygon is formed by joining the midpoints of the tops of the bars in a
histogram. It is a useful way to show the shape of a distribution.

Interpreting histograms
You can read frequencies from the histograni Frequency is always 5 people threw

as well as work out cumulative frequencies. on the vertical pds,  betwasn 4 m and 5m.
i : A
This histogram shows the distances people A) 2

could throw a rock. ¥ g5 AR In histograms. with

HitH ] | equal intervals, the
./ bars must be equal
width.

It shows that there were 5 people who threw )
between 4m and Sm. g

You can work out that there were 5 + & = 13
people who threw up to 6m.

Sttt
0 1 B (e '“..:3'=
01234546706
Length (m)
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j-_}is*ogmms

A Wistogram is similar +o a bar chart, but where a bar chart s used for categerical or discrete data, we use a histogram
for continuous data e.g. heights, weights, Hime etc.

Key features:

o There are vo gaps between bars and bars may be different widths
o The horizowtal scale 15 livear and vet grouped

o The vertical axs is labelled frequency density
o The frequemey (s represeuted by the area of eaeh bar rather than the height of cach bar

e.9. Praw a histogram of the following data

Length of +ime | Freduency
D=<+<10D @0
D=+<15 40

15<+<20 75
205+<50 150

The area of this bar is 150

) ) whieh is the frequency of
First we veed +o calculate the freauency densihy

the group 20 < + < 50
; Freauenny
Frequency densihy = e wn /
Length of time | Frequency Freauency 14 /
densihy > /
D<+<10 @D @ +10=06
10<t<15 40 40+5=9% Fiaquency
15<+<20 75 F5+5=15 density
20=+t<50 150 150 +30=5

ot

Class width is the difference between
Hhe 2 bounds so this ove is 50 = 20 = 30

20 30

Length of tume (¢ hours)
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Pictograms

Pictograms are a way of summarising data in a chart. You need to be able to draw and
interpret pictograms.

3 X 12 = 36 botties
sold in Week 1.

This pictogram shows information about
sales from a shop.

You will be expected to deal with halves
and quarters when interpreting pictograms.
Pictograms may not be suitable for large

numbers as symbols often cannot be
easily divided.

This half symbol means
12 + 2 = 6 bottles,
So 42 bottles were sold

in Week 3.

The key shows how many
each symbol stands for,

Week 4| )

Tables

When extracting information from tables make sure you read the table and the units carefully.
Figures in tables can sometimes be rounded.
This table shows the numbers of people who voted in three General Elections.

The figures are given in millions,

A er Total These numbers have been
______rounded to two decimal places
§10.70| 8.61 | 6.64 | 0.66 | 2.88 | 29.69 —nded to buo docim) plac
11-30 9-35 2.42 1.64 6.00 30 70 RDUﬂdlﬂg can sometimes result

113.64 [12.88 | 2.37 | 114 | 2.18 |32.20 '~ in snomalies.

Source: House of Conunons Library The trend for the total number of
| voters between 2010 and 2017

You may be asked to comment on a trend, which is normally is upwands (or increasing).
uvpwards or downwards but can also be flat.
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Probability

For equally likely outcomes the probability (P)
that something will happen is:

? _ __Number of successful outcomes
bability =
Akt i Total number of possible outcomes
If you know the probability that an event will

happen, you can calculate the probability that it
won't happen:

P(Event doesn’t happen) = 1 — P(Event happens)
S=_oS> The probability of rolling a € on a normal
mg fair dice is &. So the probability of not
5

rolling a 6 is 1~ % = 2

Sample space diagrams

Add or multiply?

Events are mutually exclusive if they
can’t both happen at the same time.

For mutually exclusive events:
P(A or B) = P(A) + P(B)

Events are independent if the
outcome of one doesn't affect

the outcome of the other.
For independent events:

P(A and B) = P(A) X P(B)

- e W W WM WIS OWRW O WEE W R W

B PSR N M W

[

Pt et A sample space diagram shows you all the possible outcomes of

H|T

~| =

T —TT—)
Second coin

L
|
I

| O B S M S e s e e e .

Experimental probability

You can carry out an experiment to estimate the probability of something happening.

This table shows the results of throwing a drawing pin 60 times.

S There are four possible outcomes. TH means getting a tail on the first coin
HH | TH and a head on the second coin.

an event. Here are all the possible ovtcomes when two coins are flipped.

Number of trials

10

20

30

40

50

60

Frequency of landing point up | &

1"

17

25

30

37

Relative frequency

You need to be able to calculate probabilities
for data given in graphs and tables. You can
vse this formula to estimate a probability
from a frequency table:
Frequency of outcome

Total frequency

When a probability is calculated like this it is |
sometimes called a relative frequency.

Probability =

Golden rule

Probability estimates based on relative
frequency are more accurate for larger
samples (or for a larger number of trials
in an experiment).

To estimate the probability that the drawing pin will land point up, you calculate the

relative frequency. The most accurate estimate will be based on the largest number of trials.

57



Maths Grammar ONLY

Venn diagrams

You can use a Venn diagram to show frequencies

in a probability question. This Venn diagram shows In total 21 + 8 + 6 + 15 = 50
the results when 50 people were asked whether people werr; gurveycdt, —

i b resents all o .
they owned a dog (D) or a cat (C). The rectangleb Th::.s j}'L‘l rep
represents everyone who was surveyed. The number £ — s oo
in each section tells you how many people that i | rasein
section represents. : p:ople i

owne
Some people owned a cat and :v cc; -

a dog so the ovals overlap.

21

D C

21

6 people owned a dog and \ :
a :at. You can write this as D N C. a dog or a cat. You can write this

fimeans and or intersection. asDUC.
i) means or or union.

Set notation

In mathematics a set is a collection of members (or elements). The elements in a set
could be numbers, words or letters. You can define a set in two different ways:

Listing She slemenis /You vse curly brackets to define
A = {onions, carrots, peas} a set.
B = {13, 14, 15, 16}

g Using a rule /.Uune' is a member of this set,
C = {months with exactly 30 dayg] You could also write set D as

11,18, 15,17, 19),
D = {odd numbers between 10 and 20} ¢ W }

Members are separated by commas.

‘6 + 6 + 15 = 29 people owned 15 + 21 = 36 people did not
own a dog. You can write this
as D', D' means not D or the

complement of D.

Set symbols to learn

&

&
&
&

U means union. The union of two sets
is the set of elements that belong to
either set.

N means intersection. The intersection

of two sets is the set of elements that

belong to both sets.

¥ means the universal set. It represents

all the elements you are allowed to

consider in a question.

A' means not A or the complement

of A. It is everything in € but not in A.
58.
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Conditional probability o

If one event has already occurred, the probability of other events occurring might change.
This is called conditional probability. The probability that an event X occurs given that an
event Y has already occurred is written as P(X|Y).

Using Venn diagrams
You can solve some conditional probability problems using a Venn diagram. If an event has

already occurred, then the sample space for the other events is restricted. These Venn
diagrams show the outcomes of two events, A and B.

& = 5 Restricted sample space
8+ 3 - ' / given that event B
P(A) = 8 Event B
811+3 o @ — o : 45 i I 3

€

Complete sample space

P(A| B) =

20

3
S+& 7

Two-way tables

You might have to work out probabilities
from a two-way table. This table shows
how a group of students travel to school.

Car Bus | Walk | Bike
Male | 4 17 | 20 | ,9
Female| & 20 | 29 V' 1

/]

Given that a student bikes to school-, the
probability that they are male is

s i
9+1 20
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Tree diagrams

You can use a tree diagram to answer questions involving conditional probability.

A tree diagram shows all the possible outcomes You write the outcomes at the

from a series of events and their probabilities. ends of the branches,

£ g, G You can use shorthand like this.
This is a tree diagram for Holly’s journey to school.

You write the probability for Ovtcoma Probability

each event on the branch. \ 1
4 Late CL

Bl 2.1
374 12 6
At each branch the 2 Catch bu
probabilities add 3 3 D& B
up to 1. 4 mtme GO e B T
57 3 4
3 5 late ML Ixg=2
The outcome of the 3 Kilea biis
first event can affect 1 1 1
the probability of % On time MO 3X% =8
T 5<.=cond. g Each branch is like a different You multiply along the branches to find the
less likely to be on i Y A : :
Chrine: i sb e parallel universe. In this vniverse, probability of each outcome,
Holly misses the bus and gets to The probability that Holly misses the bus and
the bus, . ; o 4
school on time. is late for school is 35
Golden rules

With replacement: probabilities stay the same.
Without replacement: first probability stays the

Look out for the words replace or | \/~:~‘;‘9
put back in a probability question. _f;,@
‘,9

| 3ame while the others change.

ADD UP THE
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Counting strategies

You might need to find strategies for counting the total number of

possible combinations. One way of finding combinations is to make 4

a systematic list. Here are all the possible three-digit numbers

5

2

that can be made from the number cards shown on the right.

456 465 546 564 645 654

Start by writing out Then write the Finally, write
the numbers that numbers beginning . the numbers that

begin with 4, with 5. begin with 6.

Quadratic equations

Quadratic equations can be written in the
form ax®> + bx + ¢ = O where a, b and ¢
are numbers, When ¢ = O:

2 =
You need to be able to solve a quadratic X 10x N 9
equation without using your calculator. Ae=—10)= 0
1. Rearrange it into the form
ot bte=0 When b = O (difference of
2. Factorise the left-hand side. two squares):

3. Set each factor equal to zero and solve 9% — 4 =0
to find two values of x. (Bx+ 2)(3x—2)=0

For a reminder about factorising quadratic Solutions are x = % and x = —
expressions, have a look at page 18.

Two to watch

Solutions are x = O and x = 10

£
3

There are six possibilities.
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The quadratic formula

The solutions of the quadratic equation
a®+bx+c=0
where a # O are given by
Tt ~b + Vb2 — 4ac
- 2a

You can vse this formula for any
quadratic equation, But be careful, not all
quadratic equations have a solution.

(LEARNIT!|

Checklist

Equation is in the form

a” +bx+c=0

Write down your values of a, b and
¢ before you substitute.

Use brackets when you are
substituting negative numbers,

Show what you have substituted in
the formula.

Simplify what is under the square
root and write this down.

The * symbol means you need
to do two calculations.

SENGENEESEESIRN

Quadratic inequalities

On page 37 you revised linear inequalities. In your exam, you might need to solve a

quadratic inequality, which involves an x* term.

Using a sketch

This graph shows a sketch of the curve y = x2, and

the straight line y = 36

For these values of x, the curve is below the line,

s0 X2 < 36

The solutions of ¥ < 36 are -6 < x < 6

- For these values of x, the curve is above the line,

s0 x2 > 36

The solutions of x* > 36 arex< ~Gorx> 6
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Percentage change

There are two methods that can be used to increase or decrease an amount by a percentage.

Method 1
Work out 26% of £280: £280

26

e = £72.80

100 < £280 7

Subtract the decrease: 26% opp

£280 — £72.80 = £207.20

Method 2
Use a multiplier:

100% + 30% = 130%
130 _

@

So the multiplier for a 30%

increase is 1.3:
4009 X 1.3 = 5209

Reverse percentages

In some questions you are given an amount after a percentage change, and you have to

400g
PLUS

0%
B

find the original amount. To answer questions like this you need to be really confident with

percentage change. Revise it on page 62.
Using a multiplier

You can use a multiplier to calculate a percentage increase or decrease. If you are given

the final amount and you need to find the original amount, you can divide by the multiplier.

Here are two examples:

A sweater is Original 3 5:::
reduced in P"</P

price by 20%  ¢s0 £40

in a sale.

The average  Original Temperature
temperature te'“”in/acasc
increases

by 5%. 22°c  237C

Growth and decay

You can use repeated percentage change to model problems involving growth and decay.

Compound interest

If you leave your money in a savings account it
will earn compound interest.

Saanvi invests £40 000 at a compound interest

rate of 3% per annum. 3:1?3:11:: (Starting amount) X (Multiplier)”

Golden rule

You can use this rule to calculate a
repeated percentage change:

‘Per annum' means ‘per year'. |

n is the number
This table uses a multiplier to work out the balance of tiries the L‘Em IT'. ‘
of Saanvi's account at the end of each year.

change is made. \——
End of year | Balance (£)

Il

1 40000 X 1.03 = 41200
2 41200 X 1.03 = 42436 Worked example

3 42436 X 1.03 = 43709.08 |  Aq the start of an experiment a Petri dish

The multiplier for a 3% incrcase'/i; X 1.03 con.t‘ail:ls 59(}f) Cc!ls: The r},umber of cells in the

You can use indices to work out the final balance Plsi i inepmay b 2fmcaf:h di o

after 3 years more easily. Calculate th? number of cells in the Petri dish
at the end of 4 days. (2 marks)

Balance after 3 years

= £40000 % 1.03 % 1.03 X 1,03 5000 X 1.24 = 10368

= £40000 x 1.033

- £43709.08 You can enter this in one go on your calculator

by using the @ button
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Estimation

You can estimate the answer to a calculation by Decimal division trick
nouﬂd'"q each number tzo 1 significant ﬂgu.re, and You inight Have to-divida by'a
then doing the calculation. You can use this method :

heck your answers, or to estimate calculations on SHEENI A YO0 (Y CEUNOY P
ko elineE Y - If you multiply both numbers in a

your non-calculator paper. Here are two examples: SRR by the. same mmalih the

4.32 X 18.09 = 4 X 20 = 80 answer stays the same.
The answer is approximately equal to 80. % &%
2 ~ 2 = g2 -
327 300 3<% X 100 20000 1400 140000 _ 280008 i
The answer is approximately equal to 20000. | 005 ° 5 £ w -

~ means 'Is approximately equal to' }

Recurring decimals

you can use algebra to convert a recurring decimal into a fraction. Here is the strategy:

Write the recurring Multiply by 10, Subtract to remove Divide by 2, 99 or 999
decimal as n, 100 or 1000. the recurring part. to write as a fraction,

f you need to do this in your exam you must show all your working. For a reminder about
recurring décimals have a look at page 6.

Multiply by...

10 if 1 digit recurs.
@/ 100 if 2 digits recur.
@/ 1000 if 3 digits recur,
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Component 2 Engagement Patterns of Different Social Groups

Participation rates
You need to know the reasons for the different levels of participation and the

barriers preventing everyons playing sports

Socio-economic groups spiit people according to their job and
earnings. The groups are given an order

Gender groups are determinad by 2 person’s sex (male of
femalz)
The reasons why men and women participate more or less can

Nature of the activity

Some activities may bs harder to
participate in when they get older.
There are howsaver sports specifically
targeted for older groups

» Highest order — professional or managerial jobs where Explanation  be down to the activity.
Explanation pepple e lots of sesponstikty. These jobs ez often Society still s2es some activities associated to either men or
paid more money
women
Data shows that Data Ehtn that ¢ Lowest fn'_d.er—Jobs _where there is no or fimitad Image
P e saime spons are responsibility These jobs are often paid less * Some activities are szen a5 female such as dance, netball
mare UKely to fore popaisr than Cost and aerobics. A male may be worried what other people
participate in Sthars * Some sports such as golf costs 3 lot of money to play, this would think if they participated
particular types of may affect a socio-economic group
activity e Cost
Availability Application » Male zenerally ezm mors money than females this may
Data shows that some groups do Application * Some activities may be unavailable. To go skiing not only prevent them from taking part in some sports
not do encugh physical sttivities costs 3 lot of money but it is hard to get to.
Data shows that same groups do Time
mare exercse than other groups Time * Females traditionally spend more time at home looking
* Some activities can take 3 long time and requirss 3 big after children, as well as working
commitment such as regularly playing golf
Explanation Pzople are split into groups dependent People are split into groups dependent on their disability. people are grouped based on their culture or specific origin.
on their age. The reasons why people There are many adapted activities available to people with The reasons people from differant ethnic groups participate
from different age groups participate . disabilities such a5 wheel chair tennis and rugby. E . more or ess can be down to the nature but sometimes other
xplanation .
less than others can be due to the Explanation p barriers prevent them from taking part
nature of the activity.
Application Access o N
e Some sports clubs only have Availability bl
sessions for certain age groups at s Lack of clubs and facilities in the local area for disabled » Family or peers influence whether someons does an
certain times. This may be a time groups activity or not
when they are working Cost
* Specialist equipment may be expensive Cost
Cost * Spscialist equipment may be expensive
« Money may be needed for bills Application  Access Application .
rather than sport  Physical barriars such as lack of ramps or pool hoists Stereotyping
¢ People from different backgrounds are steered towards or
Time Stereotyping away from certain activities. E.g. people from African
# Less time due to work * People may think someone with 3 disability are unablz to origin may be encouraged to participate in athletics rather
participate than activities such as swimming
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CLASSIFICATION OF SKILL

A continuum is a line that goes between to extremes. Skills often fall somewhere

between these 2 extremes.

TYPES OF PRACTICE

Massed Practice: Little or no breaks in a session and the same skill is repeated
over and over again. For example: 30 minutes practicing forehand drives on
tennis. Used for: experienced/skilled/motivated/older athletes

TYPES OF GUIDANCE

Guidance is used to help performers improve. The type of guidance used
depends on the skill and ability of the performer.

Verbal Guidance: Performer is told the information

Distributed Practice: Breaks are provided to allow rest periods or to change
the activity. There are fewer repetitions and allows for more than one skill to
be practiced. Used for: beginners/not very skilled/young athletes

Advantage: Quick, no equipment. Disadvantage: Some can be difficult to
explain

Visual Guidance: Performer is shown the skill

opean - closed
basic Pl
(simple)
low high
organisation organisation
Open Skills: Closed Skills:

Skills that are affected by the
environment, Eg. A rugby tackle or a pass
in football.

Skills that are not affected by the
environment. Eg. Penalty kick.

Fixed Practice: When the whole movement of a skill is repeatedly practiced so
it is learned, for example, a golf swing.

Basic (simple) skills:

Skills that: are simple, require little
thought, information or decision making.
Eg running/swimming

Complex Skills:

Skills that: are difficult; need a lot thought
and concentration; need a lot of
information and decision making. Eg Lay-up
in Basketball, dribbling around players

Variable Practice: The same skill is repeated in different situations, so
performer knows how to deal with them in competition. For example:
Practicing against opposition means there will always be different scenarios.

Advantage: Can copy movement. Disadvantage: Demonstration could be poor

Manual Guidance: Coach physically supports performer. Eg Gymnastics coach
holding legs during a handstand.

Mechanical Guidance: Coach uses equipment to support. Eg Harness in
trampolining, float in swimming.

Low Organisation Skills:

Skills that: are easy to do; have clear
separate phases and can be broken
down into steps.

Eg Triple Jump or tennis serve

High Organisation Skills:

Skills that: are harder to do; don’t have
clear phases or are not easy to break down
into phases.

Eg Somersault or golf swing

TYPES OF FEEDBACK

The type of feedback used is based on the type of skill and the ability of the performer.
Feedback is vital to be able to improve the skill and reinforce good practice.

Intrinsic Feedback: Feedback from within the performer

Extrinsic Feedback: Feedback from outside the performer (coach)

Concurrent Feedback: Feedback given during a performance

Terminal Feedback: Feedback given after a performance

L Y
&
A
MENTAL REHEARSAL

Mental rehearsal is a technique used by many elite athletes, whereby they
mentally practice the skill in their mind before physically completing it.

Mental rehearsal can be completed during:

¢ The warm up. Prepare both physically and mentally
* Anevent. Goes through skills in their mind
o Aperformance. When there is a break in play.

The advantages of mental rehearsal are:

Develop existing skill, focus mind on the task, reduce anxiety, build confidence.

GOAL SETTING

We use goal setting when training to increase motivation and focus. It
also improves: monitoring of progress, and planning.

To do this we use: S.MLA.R.T. Targets

S = Specific: The goal you set must
be clear.

M = Measurable: To know have
successfully achieved your goal, it
needs to be measured (i.e. against
time).

SMART targets

In order for the goals you set to be
successful, you need to use SMART
targets. You need to apply all of them.

SMART stands for:

S = Specific A = Achievable: Must be possible
M = Measurable for you to do.

A Achiovbls R = Realistic: Possible given all

R = Realistic factors involved (gg training

T = Time bound facilities)

T =Time bound: your goal needs to
have a time frame for completion.

e
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Component 2 Energy Use, Diet, Nutrition and Hydration

Diet and Energy Balance

Balanced diet: Eating the right foods in the right amounts.

There are seven nutrients. X —
e (Carbchydrates \

* Fats -&L@
. in

v e BALANCE
* Minerals

* Fibre

e  Water

Energy Balance

Macronutrients
Nutrients that we need to eat in large quantities. We need them for energy, growth and repair.
Carbohydrates Fats Proteins
Function: Function: Function:

* Used for growth and repair
of muscles

* Provide us with energy, is
stored in the body and can
lead to weight gain

* Eaten in large quantities
Provide us with energy

f—?‘ { ‘t_,; : 4 Y
o ‘.4,) 'y

Micronutrients

Nutrients we need in our diet in small amounts.

Water

Making sure the calories we eat is equal to the number of calories we burn. A \
* |f we eat more calories than we burn, we will gain weight
* If we eat less calories than we burn, we wili lose weight —_—— —T
* |If we eat the same number of calories as we burn, our weight will stay the same (it is miac be Eagrey Oul
balanced).
Vitamins & Minerals
Optimum Weight Dietary Manipulation = Vitamins and minerals keep our body

The ideal weight someone should be.

Protein intake:
*  Protein should be consumed as soon as possible after exercise.

This will depend on their: e thisincreases protein synthesis and therefore muscle growth.
*  Bone structure *  This is used by performers such as sprinters, shot putters and
*  Sex : power lifters
*  Muscle gith Carbohydrate loading:

Height *  This strategy involves eating foods high in carbohydrates 1to 4

days before an event.
These increases glycogen stores in the muscle.
This is used by endurance athletes such as marathon runners

BODY MASS INDEX
L

nausea and the thickening of blood.
»  Water should be consumed before during and after exercise

.
Hydration:
*  Water prevents dehydration,
*  Dehydration causes: dizziness, fatigue, heat stroke, muscle cramps,

* Water prevents dehydration and is
healthy and can improve your immune found in most liguids and many foods

system

Fibre

* Fibre aids the digestive system and is
found in foods such as cereals,
vegetables and nuts
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MSH Knowledge Organiser Health and Well Being

Health Sedentary Lifestyle
It is a state of complete emotional, social and physical wellbeing and not merely the A lifestyle where there is very limited or no physical Lifestyle Choices - DRAW
absence of disease and infirmity. activity.
2500 calories for men
. . - Diet 2000 calories for women

Negative effects of physical activity on health

e Qverexertion- when you push yourself too hard physically Poor diet - ,‘AnoreXIa. Obesity

o Injuries- Over strain muscles and you cannot take part in physical activity Health Risks gSieaporost;

o Obsession with physical activity and less time with family and friends
e Obesity - Describe people who are extremely

Alcohol - lead to obesity due to

overfat. LD
: number of calories in the
Physical Health Social health Emotional Health ». Ghlcogorusts.- Weakened bones COBStNCE 2 slower FentEon

e Reduced chanceof | e Making new friends e Increase serotonin o Heart Dis'ease - Weakened heart Recraational time
obesity e Respecting opponents (e.g. (feel good e Type 2 Diabetes - Pancreas produces too much

e Cardiovascular shaking the refs hand at the hormone) insulin Drugs Smoking - Causes emphysema. The
Hypertrophy end of a game) e Aesthetic e Poor Posture - Weakened muscles tar restricts the alveoli, which
(growth of the e Improved communication Appreciation (how e Depression - Severe feeling of sadness due to low reduces oxygen intake and causes
heart) (e.g. calling man on in good a skill looks) self-esteem and low breathlessness

e Strengthens bones football) e Increased self-

e Reduce chance of ® Increased social activities esteem (how you _
coronary heart and less likely to be involved feel about 5-18 year olds should exercise 1
disease. with anti-social behaviour. yourself) Activity | hour every day

e Reduced chance of | e Opportunities to get e Provides Levels

iti B lori din food i
a stroke together with existing competition " - L urns calories consumed in food in
friends. = A7 &= order to prevent obesity
QY (]
V& OSTEOPORDSIS STAGES T
O\ rp "o = Work, rest, | Lackof sleep can lead to tiredness,
sleep, !ac.k of Fonc?ntratton and
irritability with teammates
balance
®  ——— ® @@=
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GCSE Physical Education — The structure and functions of the cardiovascular system

Structure of the cardiovascular system

Vena Cava

Right atrium

Semi-lunar valves —

P
|

C

Pulmonary artery ( 7
\

Tricuspid valve &(Q
—e

Right ventricle

Deoxygenated blood = BLUE (Right side)
Oxygenated = RED (Left side)

Vascular Shunting

Aorta
Increased
demand for
Pulmonary vein OAYELS

Left atrium

Bicuspid valve

Left ventricle

Septum

working muscle / Vasodilation

Blood flow

increased to Vasoconstriction Re-distribution

of biood flow

groups (Vascular shunt)

Vasoconstriction — NARROWING Vasodilation - EXPANDING

Function of the cardiovascular system

= Transport of oxygen, carbon dioxide and

nutrients
+ Clotting of open wounds
* Regulation of body temperature

Tt
S

Blood vessels

pulmonary artery)

5. Small lumen = 5. Valves

pulmonary vein)
3. Thick/elastic walls , 3. Thin walls + larger lumen — L%
4. High pressure . 4. Lower pressure Cg \ X

Arteries Veins Capillaries
1. Away from the heart 1. Back to the heart 1. In the tissue
2. Oxygenated blood (except 2. Deoxygenated blood (except 2. Site of gaseous exchange

3. Very thin walls

Components of blood - Red blood cells
Carry oxygen from the lungs to the working
muscles + Removes CO2.
Haemoglobin binds the
oxygen

White blood cells
Are part of the immune system and fight disease and
infection.

g
=~ &
® \

Platelets & Plasma

Platelets clot blood and form a scab around the site
of injury. _
Plasma is the liquid/fluid

part of blood that allows

it to flow.

Pazma (554

White bioosd cell:

and plaleets (1%

Fead bloac calls 45%)
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GCSE Physical Education — Performance-enhancing dugs, injury and prevention

Injury prevention — to prevent injury performers and coaches should recognise and identify
risks and reduce them.

Performance Enhancing Drugs (PEDs)
The rewards that come with winning are so great that athletes are increasingly temped to
cheat. Fame, money and pressure are commonly cited despite the health risks or even death.

Beta
Blockers

Anabolic
Steroids

Narcotic

Analgesics

Diuretics

Stimulants

Peptide
Hormones

Reason for athlete taking

this

Slows heart rate, calms
and steadies hands

Promote muscle growth
and promotes a faster
recovery time

Masks pain and increase
pain threshold

Rapid weight loss from
removal of fluids. Masks
other PEDs

Increased alertness and
reduce tiredness

EPO — increase Red Blood
Cell production

Growth Hormone —
increase muscle mass

Health risk

Lowers blood pressure and
oxygen delivery to muscles

High blood pressure,
aggressive behaviour &
develops male features

Vomiting, addiction and
liver/kidney damage

Dehydration, nausea and
headaches. Heart and
kidney failure.

Heart rate irregularities &
increased aggression.

Increased blood
thickness/blood clot

Abnormal growth

Sporting example who
might use it

Target
sports

Power
Events -
100m -4

|/
Any athlete wanted to
mask pain.

Jockey
Boxing

Boxing
100m sprinter

Blood doping — a method of artificially increasing red blood cell count — increases endurance.

Injuries

Soft tissue injuries

Strain — Pulled or overstretched muscle.
Sprain - Twisted or wrenched ligament.
Treatment for strain and sprain = RICE (Rest, Ice, Compression,
Elevation)

| - Apply ice to reduce the
swelling for a maximum
C of 10 minutes.

R —rest the injured part.

E — Elevate the injured
part to decrease the
blood supply.

Tt C—Compress the injured
X area using a bandage.

Golfers Elbow/Tennis Elbow — overuse injury caused by inflamed
tendons that attach muscles to the elbow joint. Symptoms also
include soreness and pain.

Abrasions — minor injuries to the surface of the skin. i.e. a graze.
Symptoms are a hot/burning sensation, redness and occasionally
some light bleeding. Treatment — clean and cover with a low
adhesive dressing.

Torn Cartilage — This can occur when a joint is twisted excessively.
This is commonly caused when players change direction quickly.
Treatment — ice and surgery

Concussion — An injury to the brain caused by a knock to the head.
Common in contact sports. If an athlete is concussed, they may:

= Become unconscious.

= Feel sick, dizzy or drowsy.

* Get confused, stare & suffer memory loss.

Dislocation - a sudden impact on a joint can cause
the bones that meet to become disconnected.

Fracture — a broken bone.
Open/compound/complex fracture — bone through the skin
Closed/simple fracture — bone remains in the skin.
Greenstick fracture — bone bends (younger children)

Stress fracture - repeated or prolonged forces against tiy§)bone
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GCSE Physical Education — Movement analysis

Levers — a rigid bar that moves around a pivot point with force applied to it.

Planes — imagery lines that divide the body into two.

Fulcrum (F) Effort (E)

Load (L)

Frontal plane

Transverse plane

Sagittal plane

A fixed pivot point

The source of energy
that will be applied

The weight/resistance to
be moved

Third class lever:

Classes of lever Drawing
First class lever: Effort _Load
./\
4
// B
£ N
Fulcrum
Effort Load
Second class lever: =— =
Lo
N
4 \
Fulcrum
Effort Load

Fulcrum

A vertical plane but this
divides the body into
front and back.

A horizontal plane that
divides the body into
upper and lower halves.

A vertical plane that
divides the body into
right and left sides.

Axes — imagery lines that the whole body turns around.

Sagittal axis

Vertical axis

Frontal axis

Mechanical advantage
This is were a lever’s effort arm is
greater than its load arm.

<= '
T A
£ *

Large loads can be moved with limited
effort.

Mechanical disadvantage
This is were a lever’s load arm is
longer than its effort arm.

Y N
4
AR

aad Ao A

Tiioet Arm (F A}

Runs through the body
horizontally from the
back to front.

Runs through the body
vertically from the top to
bottom.

Example: Full twist

0 T

Runs through the body
horizontally from the left
to right.

e
P




GCSE Physical Education — The structure and functions of the respiratory system

PE

Structure of the respiratory system Composition of inhaled and exhaled air
—— ) Gas Inhaled air Exhaled air
' ~ Bronchi

Trachea = Oxygen 21% 16%

: Carbon dioxide 0.04% 4%

el R Nitrogen 78% 78%

7 -5 Lung
Bronchioles ¢ /
: Inhalation/Inspiration Exhalation/Expiration
\ :
Diaphragm

Frequency
Tidal Volume

Respiratory values
Tidal Volume — the amount of air inhaled and
exhaled per breath. Resting value = 500ml

4
[
-

JAVA ' \J/ \

Vital Capacity — The maximum amount of air exhaled
following a maximal breath in.

Frequency — The number of breaths taken per
minute. Resting value — 12-20 breaths.

Minute Ventilation — The amount of air inhaled and
exhaled per minute. Measured in litres.

h

Vital capacity

f Av\ P ¢

|

Gaseous exchange at the alveoli

= Diffusion is the movement of molecules from an area of high concentration
to a low one.

* The alveoli have thin moist walls to allow diffusion to occur.

= Capillaries are closely wrapped around the alveoli to reduce the distance of
diffusion and increase efficiency.

During inhalation:
= The concentration of oxygen is air is higher than the alveoli.
= The concentration of carbon dioxide in the blood is higher than that in the air.

During exercise

Gaseous exchange increases as the intensity of the becosing Mty

activity increases to cope with:

~ An increase demand for oxygen at working T
muscles § 0§ e o T

~ Anincrease in carbon dioxide production and the
need to rid this waste product.

Frequency AN + Tidal Volume A i

Training increases total lung capacity and vital capacity readings.
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GCSE Physical Education — The structure and functions of the skeletal system

Structure of the skeletal system Structure of the skeletal system Vertebral Column
5 T The vertebral column is divided into
Cranium @1 Clavicle Y 5 sections. It is made up of irregularly

”q’w-'/ scapula shaped bones called vertebrae.
Sternum \ Vertebral column

7 Cervical vertebrae

T Ribs

s

S RP— Radius

Each vertebra

Pelvis L e ail is protected
ﬂe‘:i 'd’tt{ £y #‘.A— Ulna I\ y with cartilage - 12 Thoracic vertebrae
,’("FM i LN TEERY to prevent
gp* g9e . -
Femur - A friction.

The vertebrae 5 Lumbar vertebrae

Patella ——P) @«
( " Fibia / Carpals | Jj/ protects the
3 / spinal cord.

' Eikgis - M Metatarsals

etacarpals Sacrum (5 fused)
& g
& % 95— phalanges —— Phalanges Coccyx (3 to 4 fused)
> b
Function of the skeleton Classification of bones
* Protection of vital organs
e  Muscle attachment Long (leverage) Short (weight bearing) Flat (protection + muscle Irregular (protection and
e Joints for movement attachment) muscle attachment)
= Blood cell production (platelets, red and white) Clear shaft region Light, small and Broad surface Assist the
= Storage of calcium and phosphorus to the bone. very strong. N // area for muscle functioning =~ -
i.e. femur, Le. ‘?!.I)‘_( attachment. ¢ of certain
humerus & carpals \ l \J{\;‘)Ji\) i.e. cranium S F=r 0, | joints. ie. VNS
=N . T phalanges tarsals b ‘.lg..\\ \ < | patella/vertebrae
Classification of joint
= Pivot (neck — atlas and axis) ’>
« Hinge (elbow and knee) y Joint movements
= Ball and socket (hip and shoulder} = Flexion Adduction Rotation Dorsi-Flexion (ankle joint)
= Condyloid (wrist) <Lb .
L @ Decreasing the { Limbs moving 2 A twisting/turning When the toes, >~
\?) . angle at a joint A\l 8 towards the Sand action around a \‘&."?-,’ areturned up | o &
\y ' 4 f
(bending) / midline of the body. ! joint. =4 to the body. < T
Connective tissue
Ligaments — attaches bone to bone to add joint Extension Abduction Circumduction Planter-Flexion (ankle joint)
stability. Increasing the angle Limbs moving _ | Acombination of | When the toes are
Tendons — attaches muscles to bone and contributes at a joint \ away from the L1/ | flexion, extension, . pointed away —
to joint movement as a result of muscle contraction. (straightening) midline of I! adduction & ' from the body. [ g7 @™
the body. [ abduction. . v 73 J
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GCSE Physical Education — Fitness Testing

Muscular Strength
Test: Hand Grip Dynamometer Test

Protocol: Grip the dynamometer in one hand. Start with your u
hand up and bring down to side while pulling in handle. No swinging your hand.

= Simple and easy to complete = Only one size of dynamometer which may affect reading.

Agility 4
Test: lllinois Agility Test
Protocol: Start lying down at the start line. Complete

course as quick as possible (10m x 5m — 4 central cones)

= Simple and easy to complete = Motivation dependant / Timing errors.

= Focuses solely on forearm strength.
Muscular Endurance

Test: 1 minute sit up test E Test: 1 minute press up test
Protocol: Complete as many full sit ups/press ups as possible in 1 minute.

= Simple test to complete
= Minimal equipment needed.

= Difficult to assess whether each repetition is
performed correctly, Difficult to accurately
measure large groups.

Flexibility

Test: Sit and Reach Test

Protocol: Sit with legs straight out in front and soles of feet against box/table.
Reach forward without bending knees. No jerking movements.

= Quick and easy to perform.
- Data table readily available
for comparison

= Can cause injury if not fully
warmed up appropriately.

= Only measures flexibility of
lower back and hamstrings.

Speed

Test: 30m Sprint Test

Protocol: Start from stationery position. Complete distance
in the quickest possible time. Time is stopped when chest
crosses the line.

= Quick test to complete.
= Minimal equipment needed and can be
performed anywhere with a flat 50m run.

= Running surfaces/weather conditions can
affect the results.
= Inaccuracies with stopwatch usage.

Cardiovascular Fitness (Aerobic Endurance)

sl ool it g

Protocol: Continuously run/swim
= Minimal equipment

for 12 minutes. = Inaccuracy of heart

Distance recorded. needed rate measurements
= Test can be self = Motivation
administered. dependant

Test: Harvard Step Test

Protocol: Step continuously for 5 minutes.

Measure heart rate at s 2 X = -

1, 2 and 3 minutes e T o = Simple test to =-Mativation

r % d nt
after exercise. @ ﬂ & 1 comieae dependa

Power

Test: Vertical jump Test

Protocol: Stand next to wall and mark an initial reach while
feet are flat on the ground. Standing jump to reach as high
as possible. Measure distance from first mark to second.

= Quick and easy to perform.
= Easy to complete with large groups.

= Technique plays are large role in successful
completion.
Reliability /Validity
Validity relates to whether the test actually measures what it sets out to &
measure.
Reliability is a question of whether the test is accurate. It is important to ensure
that the procedure is correctly maintained for ALL individuals.

Results can be improved:

* By using experienced testers & calibrating equipment

= Ensuring performers have the same level of motivation to complete each test
* Repeatedly test to avoid human error (x3) 74




Composition in photography refers to the position of

Year 10 - PHOTOGRAPHY
objects inside the frame and how they interact with

MANUELCARIST
each other. Ultimately, composition is about the visual g I’Ill‘l |I ‘II
structure of your image; the arrangement of the image. s NUA

PHOTOGRAPHY
CHEAT SHEET

KEEP THE LIGHT METER AT 0" FOR A BALANCED EXPOSURE
EXPOSE FOR THE LIGHTS TO NOT BLOWN OUT THE WHITES

LM

C oM
sats .?. ~tsats 0t OPTIMAL EXPOSURE

1
op
Q.. a..s00h  UNDEREXPOSED

Lets in More Light BNEVERY RES
N N N ‘e "l’liuidninini T

ISO Aperture Shutter

~- 12,800 + /2 - 1/4 SMALLER t/STOPS REPRESENT LARGER APERTURES, MORE
LIGHT THROUGH THE LENS AND SHALLOWER DOF

- 1/8 ff1.4 f/2 f/2.8 /4 /5.6 /8 fA e

= 1O0000009
s o e e o B

SHALLOW DEPTH OF FIELD DEEP DEPTH OF FIELD
BRIGHTER DARKER

Know Your Stops

OVEREXPOSED
- 6400 /2.8
- 3200 /4
- 1600 /5.6
/8

f/11

— 800 - 1/60

- 400 - 1/125

THE LENGHT OF TIME WHEN THE DIGITAL SENSOR
INSIDE THE CAMERA IS EXPOSED TO LIGHT

1/60  1/125 1/250 1/300 171000

6, i i) . 5

~ 200 /16 -+ 1/250

- 1/500 7 1/4 1/18

=

LONGER EXPOSURE
BLUR ACTION / BRIGHTER

- 100 £/22
v 'S N BSI ~
Lets in Less Light ™"

SHORTER EXPOSURE
DARKER / FREEZE ACTION

THE SENSITIVITY OF THE IMAGE SENSOR OR THE FILM TO THE LIGHT
LOW ISO TO USE DURING DAY TIME - HIGH ISO DURING NIGHT TIME

800 1600 3200 6400 12800

APERTURE - this i3

SHUTTER SPEED - tn:

) 11ghe.
! SELFITINN - 3 featurs on a camera which
) FLASHI- & Flash i3 & device vied on 8
| PHOTOIBUNAAL - 3 <o
) LOW SENSITIVE TO LIGHT
LOW NOISE / HIGHER QUALITY

HIGH SENSITIVITY TO LIGHT
LOWER QUALITY / HIGH NOISE

) GEBTHOH FIEB- the distance betwen the nearvst and Furth
| focussed imsge

{ FOREGHOUND -the part of the

BACKGROUND - tre

KIDOLE GACUND

VIERPOINT

CHOPPING -

FOCUS- -

BLURRED
(o)

trage 1s
Exposure teiangle

Depth of
Field

Symmetry

%V

BIET{e]sF]

Viewpoint

oy

Pattern Colour Negative Contrast

Space

Development Writing Frame - PHOTOGRAPHY

Using the questions/statements below, discuss your developed work. Use the sentence starters to help you.
The image that | have created is of... describe your photography in detail: how does it respond directly to
your chosen question/theme?

The key technical factors that | have used to create this image are...
thirds, focal point, aperture, lighting

This work is developed from my artist’s work because in their work, they have used the idea of...
certain style? Or a particular thing or group of things?

and in my own work | have... describe what you have done to change the work to make it your own, have you
used a similar style but a different subject? Have you developed your photos by re-shooting to develop your
work?

I think my work is successful because.... Describe the best elements of your work: Is it impactful? Does is
evidence the technical aspects of photography like depth of field or focal point? Is it unique, different or
original? Does the background work well with the piece? Have you edited it to improve? How?

The symbolic elements of my photo convey a message by...

To refine and develop my work, | will... Is there anything that you can do to enhance the audience
interpretation, is the message explicit? Do you need to re-shoot with costumes and props? Lighting is ke7§
photography, does the lighting need to be enhance with editing or re-shooting? Is the composition right:

you need to edit on photoshop to enhance colours?

shutter speed, composition, rule of

.sita




Psychology

Topic 3: Psychological Problems

Mental Health

Mental health: a person’s condition with regord to their psychologicol and emotional well-being
*25% of pople are likely to suffer from menzal health per year
*1.45 million people predictad to be diagnosed with depression by 2026
*Pzople are 10x more likely to be dizgnosad with depression in 1980 comparad to 1540
*27% of people who said they had used an illegal substance in their lifz in 2008
»31% of people who szid they had used an illegal substance in their life in 2014

Depression Addiction
Symptoms: Features: Symptoms: Features:
*Sadness *Women are more prone to depression *Repatitive actions *141 646 people were treated for substance
*Hopelessness *3.5 million people are estimated to suffer from «Can't stop or reduce activity misuse between 2014-15
*Losing interest depression in the UK *Have to use the substance *18-24 year old's most likely to be addicted
*Loneliness sTeenagers and 5C+ years are most likely to develop  «Physical withdrawal symptoms *5% of people in the world have an intarnet
»Suicidal thoughts depression addiction
Causes: Genetics: Causes: Cognitive: Causes: Genetics: Causes: Learning:
*17 genes linked to depression *Cognitive Triad —negative thoughts about *Dopamine controls reward and pleasure *Operant conditioning —learning through

*Genetic deposition —biclogically prone to 3
particular behavior

*McGuffin —46% more likely to develop
depression if MZ twin wos diognosed

Treatment: CBT:

*Patient explains their thoughts and feelings to
the therapist

*Therapist begins to challenge the way the
patient is thinking and shows the patient their
thinking is irrational

*Therapist and patient work together to replace
negative thoughts with positive and rational ones
*Patients will have to keep a mood diary

themselves, the world and the future

*\March -327 odolescents with a diognosis of
depression and looked ot the effectiveness of CBT.
After 35 weeks, 81% of the CBT group hod
significantly improved, demonstrating the
effectiveness of CBT in treating depression and
suggesting depression is Gue to thoughts

Treatment: Dugs:

*Increase the amount of serotonin and dopaming in
the body

«Different types of antideprassants —55R1s, SNRIs,
MAOIs and TCAS

«Malfunction in the DDR2 gene

s\artinez —cocoine addicts were more likely to
have particulor version of dopamine receptors
genes

Treatment: CBT:

«Functional skills —fooks at behavior and works
out why someone is an addict

«5kills training —gives an addict the skills to
overcome this e.g. how to cope with craving or
53y no

consequence
*Classical conditioning —learning through

aszociation

*Social Learning Theory —learning through
modetling, imitation and reinforcement
*Eondura —children who watched o video of
odults beating o dolf were more likely to imitote
this behovior showing we copy role models

Treatment: Dugs:

*Reduce withdrawal symptoms

*Hzlps the nervous system cope without the
substance by replacing it with something eis= to
wean themsehves off the substance
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Psychology

Unipolar depression
Maonozygotic twins
Dizygotic twins
Genatic predisposition

Diathesks stress model

Deterministic

Freo Will

Cognitive theory
Negative Triad

Magnification

Cognitive bohavicural
therapy (CBT)
Neurotransmlitter

Noradrenaline

Reuptake
Placebo

Relapse
Addiction

Withdrawal

Functional analysls
Shodls tradnlng

Detoxification
Longitudinal study
Likert style guestion
SHTT gene

Key Terms

A type of mood disorder causing perinds of feelng ad and Rcking motivation 1o do everyday
activties
Twtrs developed from one fertitised egg that has been zplitinto twa. These are ientical twirs

Twins developed from twe different eggs fertiksed during the same pregrancy, These are nan
identical

A biokagical tendency to cevelop a particudar behanvdour as aresolt of the genes somecne has

An explanation for depeessian that dabms people can have 2 gene that makes them mars lkely
to devalop depression, but anly if they face a stressful situation that triggers stressful
depressrve thoughts

Cur actions come frony what we are bom with and what we experience; this & the oppesite of
hawing free will or free cholce

Explanations of behavtour that daim we have the abiity to choase exactly what type af
behaviour we want to shaw, this is the cpposite of boing determined

An explanation that fecuses on how thought processes influence behaviour

A sot of three thought patterms where peaple feel bad about themselves, the warld and the
future

A form of cogrutive bias that makes peaple see their problems as far higger than they actually
are

A therapy far mental heatth disorders that alms to change thought processes in order 1o recuce
symploms.

Chemicals faund within the nervous systam that pass messages from cna neuran to another

A type of neurotransoitter that is invelved In moad and is releasec duning time of stress

The precess where a neuron reabsarbs necrotransmitters that they haye released

An inactive substance or “fake pilt® used Instead of an active substance. The persan given a
placeba will not know it i fake

A return of symptoms alter treatment has baen given

A mental health prablem that means people need a particular thing — 2 substance or an activity
=i arder to be able to go about thelr narmal routing

A st of unpleasant symptams someone gets when they cannot satisfy their adciction,
Normally happens when people are trying to quit.

The first stage of CBT to treat adciction - this identifies the tnggers

The secand stage of C3T where the acdict leama to cantral thelr patterns of behaviour that
lead 1o thex addiction

When an acdks tries to stop talong the substance they are addicted ta

The same sot of people are studied over a kang pencd of time

A cumenical scale which Is used to guantity pacpie’s opinions an differont things.
Short alleles lead o higher rates of depeessian [Caspl)

Studies:

Young

*Participants went through an online CBT programme.

*The sample included 114 patients (66 males and 45 females)

*The first session focusad on finding out background information of the participant and their
disorder '

e.g. problems at home, work or schoo! and when their symptoms started, what type of

symptoms
*The next sessions focused on skills training by getting the participant to davelop skills to treat

the symptoms

e.g. stop using onfine apps or spending online
*The participants had to complete questionnaires after the 3rd, 8th, 12thsessions and 2gain 6
manths after the programme,

&.2. rate your ability to control you computer use from 2-5
*Participants went from 4.22 maotivational score up to 4.36 after 6 months

Caspl
*A group of children were studied since birth (longitudinal study)

#3847 children in total

*Participants compieted a questionnaire that looked at life events from 21st-26thbirthday
*Participants with at least one gene {S-ATT) AND had stressful life events has more signs of
depression

*Participant with the short gene were more likely to become depressed than those with the
long gene

*Those with 2 short genes wers more likely to be severely deprassed

Topic 3: Psychological Problems
Paper 1 - 16 Marks
Combination of 1,2 and 4 mark questions
Possible topic for a 9 mark question on Paper 1
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Spanish

THEME 1: IDENTITY AND CULTURE

¢COomo te llevas con tu familia? How do you get-on with your Family?

WHO AM 17: RELATIONSHIPS AND WHAT MY FRIENDS AND FAMILY ARE LIKE

¢{Coma es tu familia 0 amigo? What is yaur farnily or friend like?

Me llevo bien con ‘mi abuelo/-a my granded / grandma doles ~adolescent.
! get on well with ; Lin-
g mi cufiado my brother-in-law N i atrevido adventurous
mi hermano my brother My girlfriend es irritante annoying
Me llevo mejor con v s is
! get on better with ""s hermano 0 '.snb ""gs _ Mi mejor amigo mandén : _y' .
~mi hermanastro/-a -my half brother / sister My (male) best friend ~obediente ‘well behaved
Me llevo mal con el hijo de mi hermana my sister’s son perezoso lozy
! get on badly with ‘mi madre my mother - |
e — Mi familia " ancantadosa “charming
el marido de mi padre my father’s husband My family =
Me llevo r con h
e - ‘mi nuera ‘my daughter-in-law - x es hablaq«-.-; il g
! get on worse with : Mi novia = o= z
R Bt is honrada _honest.
mi padre my father My girlfriend
SELTGT e simpatica riend,
Discuto con ~mi primo -my cousin Mi amiga - id
i . te tubbo
1 argue with mi sobrino/-a my nephew / niece My (female) friend = et
Fastidio a - =t amables kind
! annoy mi yerno my son-in-low i dables nasty
Mis abuelos
: ; = : ‘ : engreidos conceited
¢Qué haces normalmente con tu familia? What do you acrmally do with My grondparents :
your femily? son generosos generous
Mis hermanos are =y T
el bebé de mi. my holf brother's My brothers o “honest
celebrar fiestas con hermanastro baby 2 Sealés loyal
celebrate porties with
mi cuiiada my sister-in-law traviesos naughty
charlar con - = O )
bt with el esposo de mi my sister’s husband
suelo chat wit k m wWor ke dexamp le
! usually s e i
":“o':a;t‘:" la esposa de mi tia | my ount’s wife Me llevo muy bien con mi familia porque es encantadora. Suelo charlar
ook after : ; : 1
- mi gemelo my twin mucho con mi padre y mis dos hermanastros, aunque a veces discuto
hacer de canguro de Y7 A S my step-mum con mi madre ya que es un poco terca. Ademas me encanta celebrar
babysit a PG fiestas con mis abuelos porque siempre son amables. g
I




THEME 1. IDENTITY AND CULTURE
DAILY LIFE: EATING OUT

¢Qué prefieres comer? Whot do yauprejbr to eat?

¢Qué comiste ayer? What did you eat yesterday?

Spanish

Prefiero desayunar cereales cereals cerezas cherries
For breakfast | prefer fruta fruit un huevo frito a fried egg
to have : . e Desayuné P o
unas galletas some biscuits For breakfast | hod nelocoton A PeRLs
leche entera Sull fot milk un pastel de chocolate a chocolate cake
una manzana an apple una tostada con “a toast with butter
pan bread SIS LR
un plitanc abanona carne picada de ternera beef mince with
una taza de café o cacao a cup of coffee or cocoa CONTENBNITONSE rayshn ol
W o e T oot it Almorcé S ST et eciilindai
For lunch | had una comida deliciosa a delicious meal
Me gusta almorzar unos albaricoques some apricots un plato principal ‘@ maina course
For lunch | like to i - Ayer
Nries arroz con salchichas rice with sausages Vesteskie pescado con limén fish with lemon
un bocadilic de atan @ tuna sandwich — —
D i a ok
un filete de cerdo a pork steak HoR Seve i
T T una comida o ready meol
pollo con patatas fritas chicken with chips Cené WM con aroll mm
, > de guisants a i For dinner | had pimientos b
una tortilla an omelette a pear.and pineapple
- 8 B : —
R on onion tart
Me encanta cenar albéndigas con salsa meatballs with gravy
e || smem s | aResis agus minecal minerat water
una ensalada de pepino a cucumber salad —_— una cerveza a beer
una hamburguesa a burger b ikecanke un chocolate caliente ‘@ hot chocolate
queso y uvas dlmemgmpes refrescos refreshments
verduras asadas roasted vegetables "“‘ ﬂ@ -




Spanish

THEME 1 IDENTITY AND CULTURE

DAILY LIFE: FASHION AND SHOPPING

Me gusta llevar
! like to wear

Me encanta ponerme
! love to put on

Suelo llevar
{ usually wear

Siempre llevo
! alwoys wear

A veces me pongo
Sometimes | put on

una- camnsa bianca a white shirt

una chaqueta de lana o wool jacket / blazer
una falda a skirt

una rebeca a cardigan

ropa de moda fashionable clothes
unos zapatos brown shoes
marrones

2Qué llevaste = finde pasado? What did you wear jast weekend?

! wore

Me puse
! put on

un anillo a ring
una bata o dressing gown

un chandal holgado

a loose tracksuit

un pantalon corto some shorts
una pulsera a braceiet
un vestido de seda a silk dress

¢Qué compraste ayer? What did you buy yesterday?

Ayer compré
Yesterday | bought

Me probé
f tried on

un bafiador ‘@ swimsuit en el centro comercial
— R ——— in the shopping centre
una barra de labios a lipstick i
un boiso de cuero @ leather bag en la tienda
in the shop

unas bragas briefs
una bufanda deravas | striped scarf
unos calcetines socks
un cinturdén a beit
una gorra y un reloj a cap ond o watch
= e Ay en la joyeria
s joyos Jokeiery. in the jeweller’s
unas medias tights —

S en el probador
un paraguas -an umbreilo in the fitting room /
unos pendientes earrings changing room
un sujetador a bra
un traje de lino alinen suit
unas zapatillas slippers en la zapateria

Por lo general suelo llevar ropa comoda, por ejemplo
unos vagueros y una camiseta bdsica, aunque el finde
pasado fue el cumpleanos de mi tia y me puse un polo
de marca. Ayer fui de compras y compré una falda de
terciopelo, pero |a talla es pequena - jqué desastre!

in the shoe shop

1. What fabric is the
skirt they bought?

2. What is the word
for ‘size” in Spanish?
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Spanish

THEME 1 IDENTITY AND CULTURE

DAILY LIFE. SOCIAL MEDIA AND TECHNOLOGY

&utilizas mucho el movil? Do you use your phone a lot?.

iPor supuesto! Suelo
Of course! | usually

Si, me encanta
Yes, | love

Por las tardes suelo

in the afternoon | usually

Bueno, a veces me gusta

Well, sometimes | like

No suelo
| don’t usually

iQué va!l Odio
No way! I hate

Escribi un blog
I wrote o blog

Lef una pagina web
I reocd o website

Lei un post de Instagram
I read an Instagram post

Lo bueno es que
The good thing is that

Lo mejor es que
The best thing is that

Una ventaja es que
An advantage is thot

¢Qué es lo bueno de las redes sociales? What is good about social netwarks?

accesibles accessible
son educativas educational
theyare || entretenidas entertoining
faciles de usar easy {o use
te permiten | gente people

cargar contenido to load content
charlar en linea to chat onfine
conectarme a internet to connect to the
internet
descargar musica to download music
escribir mensajes fo type messages
escuchar masica to listen to music
enviar correos to send emagils
grabar audios to record audios
mirar paginas web look at websites

la seguridad en las redes socdiales
security in social networks

el uso de las redes sociales
the use of social networks

about el acoso cibernético
cyber bullying

el trabajo de los programadores
the job of progrommers

Lo malio es que
The bad thing is thot

Lo peor es que
The worse thing is
that

Una desventaja es
que A disadvantage is
that

the::‘zlow estar en contacto to be in contact
son
controvertidas controversial
they are
te enganchan
they get you hocked
te pueden enganchar

they can get you hooked

Usé la camara web para hacer una videoconferencia
| used the webcam to do o videoconference

Llamé por FaceTime a mi amiga y charlé con ella
I colled my friend on FaceTime and | chatted with her

¢A quién no le gusta usar las redes sociales en el movil? Por las tardes
me encanta conectarme a internet y mirar las fotos que sube mi amiga
a Instagram. En mi opinion, todas las aplicaciones son faciles de usar

Work
YWorked example

aungue a veces pueden ser peligrosas. Lo malo es que el moévil no esta
permitido en mi insti.

What is their opinion about phone apps?
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Useful verbs

tooar un instrament

antes (de)
después [de)
peroc

porque

va qgue

sin embargo
incfuso
entonces
mientros
aunque

aun (si)
tambiéen

odemas

before
after

but
because
since
however
even
then
while/meanwhile
although
even ({if}
also

what's more

Lifestyle: Entertainment and leisure

Time phrases 9

aver
anoche

hoy

manona

este fin de semana
ahora

el ano/ia semonasel mes
que viene

en ef pasado

el anoc/el fin de semana/e!
viernes pascdo

cuando era mds joven

en el futuro

hace un mesfios meses

yesterday

last night

foday

tomorrow

this weekend

now

next yearfweek/month

inthe past
last vear/weekend/ Friday

\M'ten 1 was younget
in the future
a month/two months ago

en tretentdo

esttmulante

repetttwo

-e.q. Me encanta escuchar musica porque es 1elajante
Prefi iero las peliculas de amor porgue son drvert:das

(Qué haces en tu tiempo libre? En mi tiempo libre voy . hago .. megusia .

para los jovenes?

&Te gustaria ira una c!asd

¢ Qué hiciste ia Gitima vez que Sahmos fuurnos hvc:mos -
saliste con tus amigos?

Si, quiero aprender a._. me encantaria .

¢Los hobbies son importantes Creo que son esenciales para una buena sajud

rmental porgue ayudan a evitar ef estrés..

el anuncio

el concurso

el dibujo animado “cartoo

el documental documentanry
la serie policiaca detective series
la telerreclidad/el programa de  reality show
raaiidad

ia telenovelo

las peliculocs de accion actuon f:lms
las peliculos de amar/las romance films
pelfcu{asramdnueas : .
las pelfculos de comedio comedies

fas pelk:ulas de ciencia- ﬁcaén -"scienoe-ﬁction ﬁ{ms

fas pehculos de terror horror films

la musica ciasica classicalmusic
o mt.imm de los dﬁéé’ bchenta GOsmusi’c

la musico pep pop mu§c

‘el rockfjazzfrap rockljazzfrap

Gustar and encantar l.

Remember that the verbs gustar and encantar don't
work in the same way as other verbs:

Use gusta/encanta for single things or an activity
{using a verb) eg. me gusta el rock, me encanta ir de
compras.

Use gustan/encatan for two or more things eg. me
gustan fas telenovelas, me encantan las comedias.

Use me when you are talking about things you like and
le when you are talking about what someone eise likes
eg.a mi hermana le gusta leer. Use mucho 1o say
you like something a lot e.g. me gusta mucho tocag?
guitarra.



Spanish

Make sure you can say:

what you usually do with your friends and famiily e.g. norma/mente
salimos ... vamos .. hacemos ..

what you did last week e g Ja semana pasada salimos ... fuimos ..
hicimos ...

what you are going to do next week eg. la semana gue viene
vamos a salir/saldremos ... vamos a irfiremos ... vamos a hacer/

haremos ...
Adjectives to describe personality /
contento. _divertido
triste
perezoso estricto
AN VSO e

‘carinoso

S AP

Remember that your adjective endings will need to agree with
the person you are describing e.g. mi hermana es carifiosa, mis
hermanos son traviesos =ic.

Mi novic/a idea seria .. tendria ..
haria ...

diez afios?

. me gustaria .

Youth Culture: Self and relationships

Friends and family

familia

mejor amigojfa
novioja
madre/
madrastra
padre/padrastro
hermanoc/a
hermanastro/a
abuelo/a
tioftia

primoja
sobrinoj/a

Other people

las celebridades/flos adolescentes/ios
jovenes/los padres/ios mayores/ios
viejosflos demas/la gente (singular)

Useful phrases Q

Me lievo bien/mal con ..

Talking about other people

Remember to use the 3rd person (plural or
singular) to talk about other people:

e

Mi madre/mi hermano/mi  Mis padres/mis hermanos/
etc. {singular)

mis.am etc. (plural)

mejores amigos/
as

padres
hermanos/as
abueics

tios

primos

sobrinos

Remember that both ser and
estar mean to be but they

are not the same - you will
need to use both of them a lot
when tatking about self and
relationships.

I get on well/badly with _.

Nos Hlevamos muy bien/mal We get on very well/badly Use ser for physical descriptions
M. zc | 1 l‘ K like (soy alto/a). personality and
. ,e o q - : LeterBabo character (es generoso/a) and
M ERICIes 10 MOe ey My parents don'tiet me . nationality (es esparsiol/a).
Cuando era mas jovern ... When | was younger _ UUse estar for feelings/ moods/
Cuando sea mayor .. When | am older _. emotions (mi f;.m o

J i esta contento) and marital
Teqen'ps mucho er;: comun We have”av lot in ;ommon St G s >
Mi celebridad preferida es ... My favourite celebrity is .. divorciid “)‘ -= EIEO. el




Spanish

(el) baloncesto

p

(el) badminton

.|

(el) golf

)

(el) voleibol

v Deportes de pelota/bal(m (bl sports: el futhl, e baloncest, el enis, el golf,

el betsbol, el voletbol, el balonmano, el tenis de mesa

0 Deportes acuaticos (water sports): s natacon, el semo, el buce, el suf

0 Deportes de montaria (mountain sports): el senderismo la escalad e

montafismo

v Deportes de aventura (adventure sport): el paracadismo, e parapente, e

v Deportes ¢

es0 el

v Deportes ¢

puenfing, tiroling a espeleologia

e fuerza stremgth sports): I halterofla, e levantamiento de
efismo de fuerza

e motor (motor sports): el automovtlstmo y el motociclsmo

v Deportes ¢
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¢ fito (shooting sports) Fl iro con areo y el iro olimpico



